
MK-D200A ~ 90mm INBOARD REDUCER LIFTER BASE ASSEMBLY

SCALE 1/2"=1'-0"

DOWN POSITION

MK-D200A ~ 90mm INBOARD REDUCER LIFTER BASE ASSEMBLY

SCALE 1/2"=1'-0"

UP POSITION

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D200A  

   MK-D201A ~ LIFTER BASE ASSEMBLY11

   MK-D220A ~ D-LOC PRB6 ASSEMBLY12

   TOTAL WEIGHT ~ 5883.5 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
8
-
1
1
 
V
D

L
 
S
T
0
1
0
 
U

p
d
a
t
e
d
\
1
8
7
5
D

2
0
0
.
d
w

g

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

 

B MC

8/11/2022

643 mm DIM WAS 640 mm  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D200

1875

6/21/2022

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
PWP

CW

1875D200
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

5
1
0

L
O

W
E
R
E
D

5
1
0

L
O

W
E
R
E
D

6
0
0

R
A
I
S
E
D

6
0
0

R
A
I
S
E
D

5
8
7

1
7
8

4
0
9
.
3
0

1
1
7
4
 
F
/
F

R
E
F

TRAVEL

DLOC MOTOR

BAR CODE READER

CL
 

 

CONVEYOR

 

RF CODE READER

6
4
3

2796 2796

1521

1521

27962796

53251065 @ 5 = 

1174 F/F

REF

CL
 

 

CONVEYOR

 

CL
 

 

CONVEYOR

 

1

2

1

2

1

2

1

2

SPEED FORMULA  ROLL BED (60HZ):

 

  ĩĩ  X 1755 X    1       X   140   = 56.7 m/min = 186.1 ft/min

                             13.61      1000  

SPEED FORMULA  ROLL BED (XXX Hz):

 

B



MK-D201A ~ LIFTER BASE ASSEMBLY

SCALE 3/4"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D201A  

   MK-D245A ~ SAFETY PIN WELDMENT 

PLACEMENT

11

   MK-D204A ~ 90 mm LIFTER SHAFT 

DRIVER END ASSEMBLY

12

   MK-D205A ~ 90 mm LIFTER SHAFT 

DRIVEN END ASSEMBLY

13

   MK-D210A ~ 4 WAY LOCATOR PIN 

ASSEMBLY

15

   MK-D213A ~ 2 WAY LOCATOR 

ASSEMBLY

16

   MK-D216A ~ Z REST PAD67

   MK-D216B ~ Z REST PAD SHIM68

   MK-D216C ~ CAM GUIDE29

   MK-D217A ~ HOLSTER WELDMENT410

   MK-D217B ~ LOCK-OUT PIN411

   MK-D218A ~ SLOTTED SENSOR PLATE212

   MK-D218B ~ SLOT SENSOR LO BRACKET313

   MK-D219A ~ SLOT SENSOR DO BRACKET214

   MK-D234A ~ 90mm LIFTER REDUCER 

BASE ASSEMBLY

115

   MK-D102 ~ FOOT PAD ASSEMBLY816

 2-7 GATES GT4 BELT #6160-14MGT-85117

 2-6 GATES GT4 BELT #1400-14MGT-85 118

 5-4 SPROCKET W/ BORE FOR B-LOC 

BUSHING #B301050, GATES 

POWERGRIP PART-NO. P28-14MGT-85

119

  6"L 4 x 3 x 3/8 (SHIP LOOSE)820

   M16x2 x 100mm LG. HEX CAP SCREW 

(FULL THREAD)

421

   M16 x 2 HEX JAM NUT422

   McMASTER Strut Channel Nut #3259T53423

 10-1 ABP166-NAAMS LEVELING PL 

1x6x150mm

224

   M24x3 x 150mm LG.  (FULL THREAD)225

   M24 x 3 HEX JAM NUT226

 5-6 50 mm DIA. KEYLESS BUSHING, B-LOC 

PART NO. 02376879

127

   TOTAL WEIGHT ~ 3904.1 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
9
-
0
2
 
R
e
v
 
D

2
0
1
 
D

L
O

C
\
1
8
7
5
D

2
0
1
 
-
 
R

E
V
 
D

.
d
w

g

D MC

9/2/2022

REVISED DIM  

C MC

7/29/2022

REVISED CALL-OUT FOR ITEM 1 WAS 203A, NOW 

245A

 

B MC

7/14/2022 MK-19 DESC REVISED, MK-27 ADDED

 

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D201 - REV D

1875

6/20/22

P6700 CONVEYORS

VOLVO

22096D

CAMPUS BUILDING
PWP

CW

1875D201
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

6
4
3

S
E
T
-
U

P
 
H

E
I
G

H
T

6

32.35

5173

REF.

6
4
3

H
O

L
D

3
2
8
.
2
 
T
O

 
q

O
F
 
P
I
N

5
1
.
4
0

2
4
8
.
6
0

2
9
8

5
4
6
.
6
0

906313

18

CL
 

 

 

 

CL
 

 

 

 

2
1
7
5

R
E
F
.

1

16

12 23

9

16

11

10

16

14

7

8

3

7

8

16

11

10

7

8

7

8

16

10

11

16

15

17

18

2

16

11

10

7

8

14

9

5

7

8

12 23

13

13

16

1927

20

20

20

20

20

20

2122

21 22

242526

14
7

1

8

20

20

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

D

D



MK-D202A ~ DLOC LIFT BASE WELDMENT

SCALE 3/4"=1'-0"

DETAIL OF ITEM '20'

SCALE 3"=1'-0"

DETAIL OF ITEM '27'

SCALE 1'-0" = 1'-0"

DETAIL OF ITEM '18'

SCALE 3"=1'-0"

DETAIL OF ITEM '19'

SCALE 3"=1'-0"

DETAIL OF ITEM '13'

SCALE 3"=1'-0"

DETAIL OF ITEM '14'

SCALE 3"=1'-0"

DETAIL OF ITEM '29'

SCALE 3"=1'-0"

DETAIL OF ITEM '16'

SCALE 3"=1'-0"

DETAIL OF ITEM '17'

SCALE 3"=1'-0"

DETAIL OF ITEM '15'

SCALE 3"=1'-0"

ENLARGED VIEW 'A'

SCALE 1 1/2" = 1'-0"

SECTION 'B-B'

SCALE 3/4"=1'-0"

SECTION 'D-D'

SCALE 3/4"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D202A  

  15'-5 1/16"TS 8 x 8 x 1/411

  15'-5 1/16"TS 8 x 8 x 1/412

  4'-5 1/4"TS 8 x 6 x 1/423

  7 5/8"PL 3/4 x 7 5/8"45

  11 3/4"TS 8 x 8 x 1/466

  8 3/4"TS 8 x 8 x 1/427

  9 1/16"PL 1 x 8 7/8"68

  8 1/4"PL 1 x 8 1/2"29

  5'-10 7/8"PL 1 x 2'-6 5/16"110

  5'-10 7/8"PL 1 x 1'-2 3/4"211

  1'-1 1/2"SQ. BAR 3412

  4'-5 1/4"PL 5/8 x 3 15/16"113

  4'-5 1/4"PL 5/8 x 2 3/8"114

  1'- 3/16"PL 5/8 x 3 1/16"115

  1'- 3/16"PL 5/8 x 7 7/8"416

  5 7/8"PL 1/2 x 4 1/4"2017

  7 5/8"PL 3/4 x 4 1/2"418

  7 7/8"PL 3/4 x 4 1/2"419

  4 15/16"PL 3/8 x 4 15/16"420

  5 7/8"BAR 1 x 6221

  7 7/8"BAR 1 x 7825

  9 13/16"PL 3/8 x 4 3/4"226

  1 1/2"BAR 1/4 x 1 1/4227

  11 13/16"PL 3/8 x 5 9/16"128

  4 9/16"PL 1/4 x 2 5/8"229

  3'-6"UNISTRUT 1-5/8 x 1-5/8 12 GAGE 

METAL CHANNEL, SOLID PLAIN FINISH, 

PART NO. P1000-PL

130

  7'-11 3/16"UNISTRUT 1-5/8 x 1-5/8 12 GAGE 

METAL CHANNEL, SOLID PLAIN FINISH, 

PART NO. P1000-PL

231

  4'-0"UNISTRUT 1-5/8 x 1-5/8 12 GAGE 

METAL CHANNEL, SOLID PLAIN FINISH, 

PART NO. P1000-PL

132

  1'-2"UNISTRUT 1-5/8 x 1-5/8 12 GAGE 

METAL CHANNEL, SOLID PLAIN FINISH, 

PART NO. P1000-PL

233

  6"UNISTRUT 1-5/8 x 1-5/8 12 GAGE 

METAL CHANNEL, SOLID PLAIN FINISH, 

PART NO. P1000-PL

234

  2"UNISTRUT 1-5/8 x 1-5/8 12 GAGE 

METAL CHANNEL, SOLID PLAIN FINISH, 

PART NO. P1000-PL

135

  1'-0"UNISTRUT 1-5/8 x 1-5/8 12 GAGE 

METAL CHANNEL, SOLID PLAIN FINISH, 

PART NO. P1000-PL

536

   
TOTAL WEIGHT ~ 3146.2 lbs

  

A

B

B

D D

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
9
-
1
5
 
D

2
0
2
 
D

L
O

C
 
R
e
v
\
1
8
7
5
D

2
0
2
 
-
 
R

E
V
 
D

.
d
w

g

D MC

9/15/2022

ADDED SECTION D-D  

C MC

7/29/2022

ELIMINATED ITEM 24 MK-D230A  

B MC

7/15/2022

DIM ADDED  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D202 - REV D

1875

6/20/22

P6700 CONVEYORS

VOLVO

22096C

CAMPUS BUILDING
PWP

CW

1875D202
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

36

28

29

17

19

16 34 8

25

10

21

7

3

2

1

11

31

13

12

32

27

5

0

0

35

14

26

33

9

6

20

10 105 10

1
0

1
0
5

1
0

10 mm [3/8"]

7
25

7

1
6

1
6

6 mm [1/4"]

18

125 69

8
7

2
7

19 mm [3/4"]

100 100

6
2

5
2

19 mm [3/4"]

231 33 33 610 140 12 33 33 231

R5

TYP.

4
0

1
5

3
1

308 285 39 230 491

R3

TYP.

4
0

2
0

4
0

2
0

8 X 45° CHAMFER

R3

TYP.

150 mm [5 7/8"]

13

13 mm [1/2"]

3

4

.

7

°

40 230 40

2
1

5
6

16 mm [5/8"]

R10 116 mm [4 9/16"]

16 mm [5/8"]

R25

TYP.

100 100

2
4
9

6
0

200 mm [7 7/8"]

20.3000

5

15

176

199

221

191

428

504

271

772

988

972

1255

1331

1538

1747

1732

1755

1561

1571

1595

39

7
4
4

1
9
2

9
7
5

9
8
5

1
1
5
2

1
9
8
5

2
1
8
8

2
2
3
6

2
5
1
2

3
1
8
1

3
9
5
6

3
7
0
2

3
5
3
5

3
5
2
5

4
7
0
0

4
3
0
8

3
7
5

7
4
4

2
2
4
8

3
7
4
3

3
9
9
7

8
6

2
0
3

0

238

301

20

0

152

426

501

01
8
4

2
2
4

2
4
2

1
5
5
8

1
5
7
7

1
6
1
6

1
7
8
0

1
7
8
8

5
0
1

4x

2x

2x

4x

6x

2x

6x

4x

4x

20x

4x

4x

2x

8x

2x

5x

2x

2x

2x

M16x2 THRU

(2x)

M16x2 THRU

(2x)

M16x2 THRU

(2x)

M8x1.25 THRU

(4x)

M4x0.7 THRU

(2x)

n28 THRU

n28 THRU

n55 THRU

1
3

SHEET 1 OF 2

310 mm [1'- 3/16"]

1353 mm [4'-5 1/4"]

1353 mm [4'-5 1/4"]

1
0
0
 
m

m
 
[
3
 
1
5
/
1
6
"
]

6
0
 
m

m
 
[
2
 
3
/
8
"
]

194 mm [7 5/8"]

200 mm [7 7/8"]

38 mm [1 1/2"]

125 mm [4 15/16"]

27

11

3

203

354

654

924

1339

20

17

5

200

TYP.

7

2x

6

16

8

9

26

30

6x

4x

6x

2x

SEE SHEET D203

FOR MACHINING

33

26

3

7

21

10

29

28

375

203

SHOP NOTE:

1. WELD ALL UNISTRUT AFTER MACHINING

WELD AFTER

MACHINING

26

WELD AFTER

MACHINING

7
6

C
U

T

127

CUT

1250 300 CUT

33

WELD AFTER

MACHINING

15

30

WELD AFTER

MACHINING

WELD AFTER

MACHINING

WELD AFTER

MACHINING

702

WELD AFTER

MACHINING

WELD AFTER

MACHINING

33

WELD AFTER

MACHINING

WELD AFTER

MACHINING

WELD AFTER

MACHINING

26 33

WELD AFTER

MACHINING

WELD AFTER

MACHINING

36

WELD AFTER

MACHINING

36

WELD AFTER

MACHINING

PAINT NOTES:

PAINT ALL FABRICATED STEEL 

AFTER MACHINING AND FINAL WELD

DO NOT PAINT MACHINED SURFACES

ONE SHOP COAT OF LIGHT GREY RAL 7035

WELD AFTER

MACHINING

26

WELD AFTER

MACHINING

7
7
 
m

m
 
[
3
 
1
/
1
6
"
]

1
2
5
 
m

m
 
[
4
 
1
5
/
1
6
"
]

1
0
8
 
m

m
 
[
4
 
1
/
4
"
]

1
1
4
 
m

m
 
[
4
 
1
/
2
"
]

1
1
4
 
m

m
 
[
4
 
1
/
2
"
]

3
0
9
 
m

m
 
[
1
'
-
0
 
3
/
1
6
"
]

6
6
 
m

m
 
[
2
 
5
/
8
"
]

6 mm [1/4"]

3
2
 
m

m
 
[
1
 
1
/
4
"
]

40

40

1
3
4

1780

5
0
0

7
4
8

7
5
3

2
2
3
6

2
2
4
8

3
9
4
7

3
9
5
2

4
2
0
0

2
5
1
5

2
1
9
8

2
7
5
6

36

WELD AFTER

MACHINING

871

8
2
4

7
9
8

7
9
2

4x

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

B

14

10

15

30

394

770

46

3

7

26

33

6
1

6
0

1
0
2



VIEW 'A-A'

SCALE 3/4"=1'-0"

ENLARGED VIEW 'C'

SCALE 1 1/2" = 1'-0"

A

A

C

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
9
-
1
5
 
D

2
0
2
 
D

L
O

C
 
R
e
v
\
1
8
7
5
D

2
0
2
 
-
 
R

E
V
 
D

.
d
w

g

6/20/22

P6700 CONVEYORS

VOLVO

22096C

CAMPUS BUILDING
PWP

CW

1875D202
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D202 - REV D

1875

SHEET 2 OF 2

SEE SHEET 1 FOR B.O.M.

2

1

29

28

27

27

21

18

17

33

11

10

19

16

26

33

13

15

1420

6

8

7

36

25

36

3

5

9

12

35

31

30

34

3

4x

6x

7x

6x

2x

2x

4x

4x

20x

4x

4x

4x

2x

8x

2x

2x

5x

2x

2x

2x
2x

2x

1
3
6

6

17

27

36

35

30

36

36

36

34

21

36

19

17

17

19

16

REF.

11

32

32

1/8

25-75

1/8 25-75

TYP.

UNISTRUT

2418 mm [7'-11 3/16"]

1/8

25-75

1/8 25-75

TYP.    

UNISTRUT

WELD AFTER

MACHINING

19

17

0

1
2
5
0

1
6
3
9

2
5
0
2

3
0
6
1

0

1339

1385

1719

0

2
7
1

1
7
8
0

2
0

0

25

61

3
0
6
1

D MC

9/15/2022

ADDED SECTION D-D  

C MC

7/29/2022

ELIMINATED ITEM 24 MK-D230A  

B MC

7/15/2022

DIM ADDED  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP



MK-D203A ~ LIFTER BASE MACHINING

SCALE 1"=1'-0"

ENLARGED VIEW 'A' (4x)

SCALE 3"=1'-0"

ENLARGED VIEW 'B' (4x)

SCALE 3"=1'-0"

ENLARGED VIEW 'C' (2x)

SCALE 3"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D203A  

   MK-D202A ~ DLOC LIFT BASE 

WELDMENT

11

   TOTAL WEIGHT ~ 3081.1 lbs  

A

B

C

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
2
7
 
M

i
s
c
 
D

L
O

C
 
P
P
R

B
 
R

e
v
s
\
D

W
G

\
1
8
7
5
D

2
0
3
 
-
 
R

E
V
 
C
.
d
w

g

C MC

7/27/2022

DIM ADDED  

B MC

7/13/2022

HOLES REVISED  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D203 - REV C

1875

6/20/22

P6700 CONVEYORS

VOLVO

22096C

CAMPUS BUILDING
PWP

CW

1875D203
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

8
7
9
.
7

S
T
A
R

T

2350.0

START

0

2
0
.
0

1
9
0
.
4
0
0

 
 
 
 
 
±

.
0
6
 
S
C
R

 
D

W
L

 3
4
0
.
4
0
0

 
 
 
 
 
±

.
0
6
 
S
C
R

 
D

W
L

 

1
4
7
5
.
0

1
5
1
5
.
0

1
4
0
5
.
0

1
9
8
3
.
2
0
0

 
 
 
 
 
 
 
±

.
0
6
 
S
C
R

 
D

W
L

 2
1
3
3
.
2
0
0

 
 
 
 
 
 
 
±

.
0
6
 
S
C
R

 
D

W
L

 

2
0
.
0

1
9
0
.
4
0
0

 
 
 
±

.
0
6
 
S
C
R

 
D

W
L

 

3
4
0
.
4
0
0

 
 
 
 
 
±

.
0
6
 
S
C
R

 
D

W
L

 

9
1
1
.
5

1
1
4
7
.
2

1
3
0
6
.
6

1
5
4
7
.
9

1
4
7
5
.
0

1
5
1
5
.
0

1
3
0
6
.
6

1
5
4
7
.
9

1
6
8
0
.
0

1
7
8
5
.
0
0
0

1
8
1
5
.
0

1
6
8
0
.
0

1
7
8
5
.
0
0
0

1
8
1
5
.
0

1
9
8
3
.
2
0
0

 
 
 
 
 
 
 
±

.
0
6
 
S
C
R

 
D

W
L

 

2
1
3
3
.
2
0
0

 
 
 
 
 
 
 
±

.
0
6
 
S
C
R

 
D

W
L

 

413.4

86.500

   ±.06 SCR

 DWL

 

86.500

  ±.06 SCR

 DWL

 

413.4

734.5

739.5

824.5

0

842.000

   ±.06 SCR

 DWL

 

717.0000

   ±.06 SCR

 DWL

 

413.4

241.5

86.500

  ±.06 SCR

 DWL

 

.0

86.500

  ±.06 SCR

 DWL

 

413.4

739.5

717.000

   ±.06 SCR

 DWL

 

842.000

   ±.06 SCR

 DWL

 

764.5

764.5

54.9

164.9

0

134.8

20.0

192.0

318.0

0

192.0

318.0

54.9

164.9

M24x3 THRU

(2x)

n10.0

-

0

.1
+

 THRU

3/4-10 UNC x 40.0 DP

(8x)

150.0

REF.

1
2
5
.
0

R
E
F
.

150.0

REF.

1
2
5
.
0

R
E
F
.

n
12.000

12.018

 x 20 DP

(16x)

M10x1.5 x 20.0 DP

(16x)

n
12.000

12.018

 x 20 DP

(16x)

M10x1.5 x 20.0 DP

(16x)

n
12.000

12.018

 x 20 DP

(16x)

M10x1.5 x 20.0 DP

(16x)

n
12.000

12.018

 x 20 DP

(16x)

M10x1.5 x 20.0 DP

(16x)

M16x2 THRU

(4x)

M10x1.5 x 20.0 DP

(24x)

M8x1.25 x 18.0 DP

(4x)

M10x1.5 x 19.0 DP

(2x) THIS SIDE

(2x) OPP. SIDE

3.2

588.0

588.0

1
2
7
4
.
8

1
2
6
5
.
0

3.2

3.2

1
2
7
4
.
8

1
2
6
5
.
0

20.0

3.2 3.2 3.2

3.23.2

3.2 3.2 3.2 3.2

3.2

1
8
6
9
.
0

3
.
2

3
.
2

1
8
6
9
.
0

1
7
3
.
0

R
E
F

30.0

REF

135.0

REF

3
.
2

M10x1.5 x 20.0 DP

(8x)

n
10.00

10.03

 x 15 DP

(4x)

3.2

3
.
2

3
.
2

3.2 3.2

0

0

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

B

B

B

B

B

1
4
0
5
.
0

114.1

C

PAINT NOTES:

PAINT ALL FABRICATED STEEL 

ONE SHOP COAT OF LIGHT GREY RAL 7035

DO NOT PAINT MACHINED ITEMS, FASTENERS

OF PURCHASED ITEMS.



MK-D204A ~ 90 mm LIFTER SHAFT DRIVER END ASSEMBLY

SCALE 3"=1'-0"

SECTION 'A-A'

SCALE 3"=1'-0"

SECTION 'B-B'

SCALE 3"=1'-0"

SECTION 'C-C'

SCALE 3"=1'-0"

A A

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D204A  

   MK-D206A ~ LIFTER SHAFT11

   MK-D208B ~ ECCENTRIC ROLLER 

CLAMP RIGHT HAND

12

   MK-D208A ~ ECCENTRIC ROLLER 

CLAMP ASSEMBLY - LH

13

   MK-D209A ~ LIFTER CAP24

   MK-D209B ~ 90mm LIFTER SHAFT 

SPACER

25

   MK-D209C ~ ECCENTRIC ROLLER 

SPACER

26

 5-2 MK-D228A ~ GATES 32 TOOTH 

SPROCKET

17

 5-1 DODGE 2 15/16" TYPE 'E' PILLOW 

BLOCK #P2B-E-215R

28

 5-3 SPROCKET W/ BORE FOR B-LOC 

BUSHING #B302215, GATES 

POWERGRIP PART-NO. P56-14MGT-85

19

 5-5 2 15/16" DIA. KEYLESS BUSHING, B-LOC 

PART NO. B302215

110

 5-7 YOKE TYPE ROLLER, INA PART-NO 

NUTR-40

211

 5-8 BLACK-FINISH STEEL EXTERNAL 

RETAINING RING, McMASTER PART-NO 

98541A156

212

   22 x 14 x 125 LG. SQ. KEYSTOCK113

   22 x 14 x 63 LG. SQ. KEYSTOCK214

   3/4-10UNC x 3 1/4" LG. HEX HEAD CAP 

SCREW

415

   3/4 TYPE A NARROW FLAT WASHER416

   3/4 SPRING LOCK WASHER417

   M12x1.75 x 150mm LG. HEX CAP SCREW418

   M12 NARROW FLAT WASHER419

   M12 x 1.75 STOVER LOCK NUT420

   M10x1.5 x 25mm LG. FLAT HEX SOCKET 

HEAD CAP SCREW

421

   M16x2 x 16mm LG. HEX SOCKET OVAL 

POINT SET SCREW

422

   M16x2 x 12mm LG. HEX SOCKET OVAL 

POINT SET SCREW

223

   M16x2 x 16mm LG. HEX SOCKET CONE 

POINT SET SCREW

224

   M16x2 x 12mm LG. HEX SOCKET CONE 

POINT SET SCREW

125

   M16x2 x 12mm LG. HEX SOCKET CUP 

POINT SET SCREW

226

   M16x2 x 10mm LG. HEX SOCKET CUP 

POINT SET SCREW

127

   TOTAL WEIGHT ~ 156.6 lbs  

B

B

C

C

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
D

e
t
a
i
l
s
\
1
8
7
5
D

2
0
4
.
d
w

g

B MC

7/18/22 ADDED NOTE, SHEET 2 BLOC INSTALLATION

 

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D204

1875

6/20/22

P6700 CONVEYORS

VOLVO

22096A

CAMPUS BUILDING
PWP

CW

1875D204
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

2

8

7

9

3

4

11

6

22

26

18

19

20

15 16 17

8

13

27

23

7

2

160

305

413413176

827

1178

REF.

22

26

24

8

25

23

4x

4x

4x

4x

4x

2x

2x

2x

22

26

23

27

22

12 6 11 3

4

5

15

16

17

8 1 10 9

7

23
25

15

16

17

8 5 2 11 6

12

4

15

16

17

15

16

17

USE LOCTITE

#243

USE LOCTITE

#243

USE LOCTITE

#243

USE LOCTITE

#243

USE LOCTITE

#243

USE LOCTITE

#243

10

1

21

4x

USE LOCTITE

#243

12

USE LOCTITE

#243

USE LOCTITE

#243

USE LOCTITE

#243

USE LOCTITE

#243

USE LOCTITE

#243

USE LOCTITE

#243

181920

SHAFT/KEYWAY NOTE:

ALL SPROCKETS, CAM ARMS, COUPLINGS & OTHER ITEMS WITH KEYS & SET SCREW ARE TO HAVE 

(1) CUP POINT SET SCREW OVER KEY & (1) CONE POINT SET SCREW @ 90 DEGREES OVER SHAFT, 

SPOT DRILL SHAFTS FOR ALL CONE POINT SET SCREWS, 

BOTH CUP & CONE POINT TO BE BACKED UP BY OVAL POINT SET SCREWS

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

4x

SEE SHEET 2 FOR BLOC INSTALLATION INSTRUCTIONS

acole
Text Box
B



J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
D

e
t
a
i
l
s
\
1
8
7
5
D

2
0
4
.
d
w

g

6/20/22

P6700 CONVEYORS

VOLVO

22096A

CAMPUS BUILDING
PWP

CW

1875D204
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D204

1875

SEE SHEET 1 FOR ASSEMBLY, BOM

acole
Text Box
B





MK-D206A ~ LIFTER SHAFT

SCALE 3"=1'-0"

MK-DD206B ~ ECCENTRIC ROLLER SHAFT

SCALE 1'-0" = 1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D206A  

  3'-6 3/16"2 15/16" DIA  (1045 C.R.S.)11

   TOTAL WEIGHT ~ 80 lbs  

      

   MK-DD206B  

  4 3/16"2 3/4" DIA.  (1045)12

   TOTAL WEIGHT ~ 0.5 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
2
8
 
D

2
0
6
 
R
e
v
 
D

\
1
8
7
5
D

2
0
6
 
-
 
R

E
V
 
D

.
d
w

g

D MC

7/28/2022

REVISED TOL  

C MC

7/27/2022

DIM TOL'S REVISED  

B MC

7/13/2022

TOLERANCES ADDED  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D206 - REV D

1875

6/20/22

P6700 CONVEYORS

VOLVO

22096D

CAMPUS BUILDING
PWP

CW

1875D206
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

R27.5

5

3
2
.
9

6
5

n 5
0

Ø

 4
0
.
0
0
0

3
9
.
9
8
4

Ø

 3
7
.
5
0

3
7
.
2
5

Ø

 

1.99

1.85

1 x 45~
TYP.

 5
5
.
0
0
0

5
4
.
9
8
1

Ø

25.432.7

5.0

43.6

3.5

107 mm [4 3/16"]

R32.5

R.8

65

1 x 45~
TYP.

30

TYP.

180 127

KEYWAYS MUST BE ALIGNED

 7
4
.
6
1
2
5

n 7
4
.
4
8
5
5

65

1071 mm [3'-6 3/16"]

R11 TYP.

(x4)

 

22.000

21.948

 

15.9 15.9

 

65.61

65.28

0.8-3.2

B

B

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

PAINT NOTES:

NO PAINT

1

1

2

2

2

B

C C

C

M10 x 1.5

30 DP (2x BOTH ENDS)

C

D



MK-D207A ~ ECCENTRIC ROLLER CLAMP LEFT HAND

SCALE 6"=1'-0"

SECTION 'A-A'

SCALE 6"=1'-0"

MK-D207B ~ ECCENTRIC ROLLER CLAMP RIGHT HAND

SCALE 6"=1'-0"

SECTION 'B-B'

SCALE 6"=1'-0"

A

A

B

B

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D207A  

  6 5/16"BAR 2 1/2" x 5"  (1045)11

   TOTAL WEIGHT ~ 14.7 lbs  

      

   MK-D207B  

  6 5/16"BAR 2 1/2" x 5"  (1045)12

   TOTAL WEIGHT ~ 14.7 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
2
7
 
M

i
s
c
 
D

L
O

C
 
P
P
R

B
 
R

e
v
s
\
D

W
G

\
1
8
7
5
D

2
0
7
 
-
 
R

E
V
 
C
.
d
w

g

C MC

7/27/2022 DIM TOL'S REVISED, HOLE NOTE REVISED

 

B MC

7/14/2022 PAINT NOTE REVISED, DIM TOL'S REVISED

 

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D207 - REV C

1875

6/20/22

P6700 CONVEYORS

VOLVO

22096C

CAMPUS BUILDING
PWP

CW

1875D207
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

3
0

1
5

18.7 56

132x n
HOLES

3
0

2
5

1 X 45° TYP.

75
45

10 X 45° TYP.

6
3
.
5

R29 CHAMFER

R37 CHAMFER

160 mm [6 5/16"]

 8
0
.
2
3

8
0
.
0
0

1
2
7
 
m

m
 
[
5
"
]

3

6
0
 
m

m
 
[
2
 
3
/
8
"
]

2
5

3
0

1 X 45° TYP.

5618.7

1
4

3
0

6
0
 
m

m
 
[
2
 
3
/
8
"
]

132x n
HOLES

 8
0
.
2
3

8
0
.
0
0

3

1
2
7
 
m

m
 
[
5
"
]

75 45

R29 CHAMFER

R38 CHAMFER

6
3
.
5

160 mm [6 5/16"]

10 X 45° TYP.

 

22.026

21.974

 

22.026

21.974

 

74.63n
74.60

 5
5
.
0
3

5
5
.
0
0

 

74.63n
74.60

 5
5
.
0
3

5
5
.
0
0

M16 x 2.0 THRU

BOTH SIDES

M16 x 2.0 THRU

BOTH SIDES

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

PAINT NOTES:

BLACK OXIDE
B

1

1

2

2

b .1 A

A

b .1 A

A

CL
 

 

 

 

CL
 

 

 

 

CL
 

 

 

 

CL
 

 

 

 

C

C

DO NOT COAT MACHINED SURFACES

C

C



MK-D208A ~ ECCENTRIC ROLLER CLAMP ASSEMBLY - LH

SCALE 6"=1'-0"

SECTION 'A-A'

SCALE 6"=1'-0"

MK-D208B ~ ECCENTRIC ROLLER CLAMP RIGHT HAND

SCALE 6"=1'-0"

SECTION 'B-B'

SCALE 6"=1'-0"

A A

B B

BILL OF MATERIAL

REMARKSLENGTHDESCRIPTIONQTYMARK

  MK-D208A  

  MK-D207A ~ ECCENTRIC ROLLER 

CLAMP LEFT HAND

11

  MK-DD206B ~ ECCENTRIC ROLLER 

SHAFT

12

  TOTAL WEIGHT ~ 15.2 lbs  

     

  MK-D208B  

  MK-D207B ~ ECCENTRIC ROLLER 

CLAMP RIGHT HAND

13

  MK-DD206B ~ ECCENTRIC ROLLER 

SHAFT

14

  TOTAL WEIGHT ~ 15.2 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
6
-
2
0
 
M

i
l
l
e
r
 
F
o
r
 
F
a
b
\
1
8
7
5
D

2
0
8
.
d
w

g

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D208

1875

 

P6700 CONVEYORS

VOLVO

22096A

CAMPUS BUILDING
PWP

XXX

1875D208
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

2

1

WELD REF.

6 mm

STOP WELD 

SHORT FROM 

EDGE

5

6
3
.
5

160

4575

3

1
2
7

2
5

3
0

6 mm

STOP WELD 

SHORT FROM 

EDGE

75 45

160

1
2
7

6
3
.
5

5

4

3

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

 

PAINT NOTES:

NO PAINT

2
5

3
0

6
0

6
0

WELD REF.



MK-D209A ~ LIFTER CAP

SCALE 1'-0" = 1'-0"

MK-D209B ~ 90mm LIFTER SHAFT SPACER

SCALE 1'-0" = 1'-0"

MK-D209C ~ ECCENTRIC ROLLER SPACER

SCALE 1'-0" = 1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D209A  

  2 15/16"BAR 5/16" x 4"11

   TOTAL WEIGHT ~ 0.1 lbs  

      

   MK-D209B  

  3/16"BAR 3 5/8" DIA12

   TOTAL WEIGHT ~ 0 lbs  

      

   MK-D209C  

  3/16"BAR 2 5/8" DIA13

   TOTAL WEIGHT ~ 0 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
1
2
 
R
e
v
s
C
 
D

-
L
O

C
 
P
P
R

B
6
\
D

W
G

\
1
8
7
5
D

2
0
9
.
d
w

g

B MC

7/13/2022 PAINT NOTE REVISED, DIM ADDED

 

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D209

1875

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
PWP

CW

1875D209
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

9
0
°

7
4
.
8
 
m

m
 
[
2
 
1
5
/
1
6
"
]

8 mm [5/16"]

2
4

4
5

31.8

101.6 mm [4"]

R33

5 mm [3/16"]

75.5

90 mm [3 9/16"]

64 mm [2 1/2"]

40

5 mm [3/16"]

DRILL & COUNTERSINK

FOR M10 FHHS

PAINT NOTES:

BLACK OXIDE

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

B

1

1

1

2

2

2

3

3

3

15.9

CL
 

 

 

 

CL
 

 

 

 

B



MK-D210A ~ 4 WAY LOCATOR PIN ASSEMBLY

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D210A  

   MK-D211A ~ 4 WAY PLATE11

   MK-D212A ~ 4-WAY LOCATOR PIN12

   M8x1.25 x 20mm LG. HEX SOCKET 

HEAD CAP SCREW

34

   M10x1.5 x 35mm LG. HEX SOCKET 

HEAD CAP SCREW

45

   10mm DIA x 30mm LG. DOWEL26

   TOTAL WEIGHT ~ 23.1 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
0
1
 
F
o
r
 
F
a
b
 
R

e
v
s
 
D

L
O

C
\
1
8
7
5
D

2
1
0
.
d
w

g

B MC

7/5/2022 DIM 96.8 WAS 90, DIM 68.2 WAS 75

 

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D210

1875

6/20/22

P6700 CONVEYORS

VOLVO

22096A

CAMPUS BUILDING
PWP

CW

1875D210
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

2

1

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

 

PAINT NOTES

NO PAINT

 

5

6

4

96.8 68.2

1
0
2

1
0
2

B

B

acole
Text Box
B



MK-D211A ~ 4 WAY PLATE

SCALE 1'-0" = 1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D211A  

  6 1/2"BAR 1 1/2 x 811

   TOTAL WEIGHT ~ 18.2 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
1
2
 
R
e
v
s
C
 
D

-
L
O

C
 
P
P
R

B
6
\
D

W
G

\
1
8
7
5
D

2
1
1
.
d
w

g

C MC

7/15/2022

PAINT NOTE REVISED  

B MC

7/5/2022

DIM 45.000 WAS 38.1, DIM 96.808 WAS 90.0, 

SCR/DWL NOTE ADDED, HOLE TOL'S REVISED

 

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D211

1875

6/20/22

P6700 CONVEYORS

VOLVO

22096C

CAMPUS BUILDING
PWP

CW

1875D211
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

1
5
.
1
0
0

 
±

.
0
6
 
S
C
R

 
D

W
L

3
9
.
1

6
7
.
0

1
0
1
.
6
0
0

1
3
6
.
2

1
6
4
.
1

1
8
8
.
1
0
0

 
 
±

.
0
6
 
S
C
R

 
D

W
L

2
0
3
.
2
 
m

m
 
[
8
"
]

15.0

41.1

45.000

56.8

96.808

116.8

150.0

153.5

165.0 mm [6 1/2"]

 

32.9

33.1

M8x1.25 THRU

(7x)

25.03

25

10

10.015

(2x)

10.5

CBORE 21.5000 x 14.0000 DP

(4x)

3
.
2

3
.
2

B

B

B

B

B

B

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

PAINT NOTES:

BLACK OXIDE

1

1

C



MK-D212A ~ 4-WAY LOCATOR PIN

SCALE 1'-0" = 1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D212A  

  3 9/16"BAR 4 3/4" DIA  (A-2 TOOL STEEL CARB 

TO 54-58 RC)

11

   TOTAL WEIGHT ~ 4.5 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
1
2
 
R
e
v
s
C
 
D

-
L
O

C
 
P
P
R

B
6
\
1
8
7
5
D

2
1
2
.
d
w

g

B MC

7/14/2022

DIM TOL. REVISED  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D212

1875

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
PWP

CW

1875D212
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

9 x 15 DP

CBORE 18 x 8 DP

(3x)

 

50.3682

50.3657

 DIA.

6
0

3
4
.
6
4

1
5

5 X 30° CHAMFER

.50 X 45° CHAMFER

1

2

0

°

9
0
 
m

m
 
[
3
 
9
/
1
6
"
]

R75

120 DIA.

 

24.987

25

Ø

R2

8

45.5

5
.
4

80

.
5
0

20

3
4
.
6
4

0
.
8

1.6

40

3
1

R.5 MAX

1.6

0
.
8

1
.
6

 .02 A

A

 .05 A

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

PAINT NOTES:

NO PAINT

B

1

1

1



MK-D213A ~ 2 WAY LOCATOR ASSEMBLY

SCALE 6"=1'-0"

DETAIL OF ITEM '2'

SCALE 1'-0" = 1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D213A  

   MK-D215A ~ 2 WAY LOCATOR MACHINE11

 5-9 CAM ROLLER, INA PART-NO KR-72PP22

   M24 x 1.5 HEX JAM NUT43

   10mm DIA x 30mm LG. DOWEL24

   M10x1.5 x 40mm LG. HEX CAP SCREW45

   TOTAL WEIGHT ~ 18 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
2
7
 
M

i
s
c
 
D

L
O

C
 
P
P
R

B
 
R

e
v
s
\
D

W
G

\
1
8
7
5
D

2
1
3
 
-
 
R

E
V
 
D

.
d
w

g

D MC

7/27/2022

2x NOTE REMOVED  

C MC

7/15/2022 ITEM '3' WAS QTY 2, GEO REVISED

 

B MC

7/5/2022 DIM 27.3 WAS 29.1, DIM 44.6 WAS 45.5

 

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D213 - REV D

1875

6/20/22

P6700 CONVEYORS

VOLVO

22096D

CAMPUS BUILDING
PWP

CW

1875D213
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

1

5

2

4

2
2
.
2
3

1
0
2
.
2
3

1
1
1
.
0
0

9

30.927.3

44.6

96

165

69

2
3
9
.
2

1
8

1
8

1

2

n7
2

78

n2
4

4x

2x

2x

B

B

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

PAINT NOTES:

NO PAINT

3

4x

C

C

D

D



MK-D214A ~ 2 WAY LOCATOR WELDMENT

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSLENGTHDESCRIPTIONQTYMARK

  MK-D214A  

 6 1/2"BAR 1 x 811

 3 1/8"BAR 1 1/2 x 2 1/222

  TOTAL WEIGHT ~ 21.3 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
6
-
2
0
 
M

i
l
l
e
r
 
F
o
r
 
F
a
b
\
1
8
7
5
D

2
1
4
.
d
w

g

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D214

1875

 

P6700 CONVEYORS

VOLVO

22096A

CAMPUS BUILDING
PWP

XXX

1875D214
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

9
6

1
3
4

1
6
5
.
0

28

46

158

176

203

221

18

203

3
8

2
5
.
4

1
0
5
.
4

18 X 45° CHAMFER

TYP.

3/16

3/16

63.5

8
0

1

2

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

 

PAINT NOTES:

PAINT ALL FABRICATED STEEL 

ONE SHOP COAT OF LIGHT GREY RAL 7035



MK-D215A ~ 2 WAY LOCATOR MACHINE

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D215A  

   MK-D214A ~ 2 WAY LOCATOR 

WELDMENT

11

   TOTAL WEIGHT ~ 17.2 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
2
7
 
M

i
s
c
 
D

L
O

C
 
P
P
R
B
 
R

e
v
s
\
D

W
G

\
1
8
7
5
D

2
1
5
 
-
 
R

E
V
 
C
.
d
w

g

C MC

7/27/2022

TOL. REV  

B MC

7/21/2022

HOLE TOL. REVISED  

A MC

7/15/2022

REVISED DIM  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D215 - REV C

1875

6/20/22

P6700 CONVEYORS

VOLVO

22096C

CAMPUS BUILDING
PWP

CW

1875D215
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

1

15.200

 ±.06 SCR

 DWL

188.200

   ±.06 SCR

 DWL

203.2

n11 THRU

(4x)

1
5
0
.
0

1
2
0
.
0
0
0

1
5
.
0

1
6
5

5
8
.
2

239

2
2
.
2
3

3
1

7
5
.
0
0

1
0
2
.
2
3

18.2

 

167.02

167.00

n
10.00

10.03

 THRU

(2x)

NO PAINT ON 

MACH. SURFACES

NO PAINT ON SURFACE

MACH. SURFACES

NO PAINT ON SURFACE

MACH. SURFACES

n
24.000

24.030

 THRU

(2x)

3.2

3.2

3.2

PAINT NOTES:

PAINT ALL FABRICATED STEEL 

ONE SHOP COAT OF LIGHT GREY RAL 7035

 

DO NOT PAINT MACHINED SURFACES

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

B



MK-D216A ~ Z REST PAD

SCALE 6"=1'-0"

MK-D216B ~ Z REST PAD SHIM

SCALE 6"=1'-0"

MK-D216C ~ CAM GUIDE

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D216A  

  6 5/8"PL 2 x 3 1/4" (4140)11

   M10x1.5 x 40mm LG. HEX SOCKET 

HEAD CAP SCREW

42

   TOTAL WEIGHT ~ 8.9 lbs  

      

   MK-D216B  

  6 5/8"SHT 6 GA x 3 1/413

   TOTAL WEIGHT ~ 0.5 lbs  

      

   MK-D216C  

  7 7/8"SQ. BAR 2" (1045 CRS)14

   M10x1.5 x 50mm LG. HEX SOCKET 

HEAD CAP SCREW

25

   TOTAL WEIGHT ~ 8.8 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
1
2
 
R
e
v
s
C
 
D

-
L
O

C
 
P
P
R

B
6
\
1
8
7
5
D

2
1
6
.
d
w

g

B MC

7/11/2022

HOLE CALLOUT REVISED, BALLOONS ADDED, ITEM 

'4' WAS (1020 CRS), PAINT NOTE REVISED

 

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D216

1875

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
PWP

CW

1875D216
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

2
1

6
1

8
3
 
m

m
 
[
3
 
1
/
4
"
]

15

105

133

REF.

168 mm [6 5/8"]

11 THRU

CBORE 21 x 21 DP

(4x)

2
1

3
8

 4
0
.
0
5

4
0

1

1 1

2

15

105

168 mm [6 5/8"]

2
1

6
1

8
3
 
m

m
 
[
3
 
1
/
4
"
]

6 GA.

45

155

2
5
.
4

5
0
.
8
 
m

m
 
[
2
"
]

5
1
 
m

m
 
[
2
"
]

200 mm [7 7/8"]

10.5 THRU

CBORE 21.5000 x 18.0000 DP

(2x)

35

11 THRU

(4x)

HEAT TREAT AREA 36-41 HRC

2.5 2
.
5

3.2

3.2

PAINT NOTES:

BLACK OXIDE MK-A

DO NOT PAINT MK-B

BLACK OXIDE MK-C

3

3

4

4

4

5

5

2

2

B

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

B



MK-D217A ~ HOLSTER WELDMENT

SCALE 6"=1'-0"

MK-D217B ~ LOCK-OUT PIN

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D217A  

  4 15/16"PL 3/8 x 4 15/16"11

  1 3/4"TS 1 1/4 OD x 12GA DOM12

   M8x1.25 x 16mm LG. HEX SOCKET 

HEAD CAP SCREW

43

   M5x0.8 x 40mm LG. HEX SOCKET HEAD 

CAP SCREW

24

   TOTAL WEIGHT ~ 2.9 lbs  

      

   MK-D217B  

  6 5/16"BAR Ø1 (1045)15

  3"BAR Ø1/2
16

   M30 NARROW FLAT WASHER17

   TOTAL WEIGHT ~ 1.7 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
2
9
 
U

p
d
a
t
e
d
 
D

X
F
s
\
1
8
7
5
D

2
1
7
 
-
 
R

E
V
 
B
.
d
w

g

B MC

7/11/2022

NOTE ADDED  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D217 - REV B

1875

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
PWP

CW

1875D217
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

2

1

3

4

4

3

2

1

4

3

1

2

9
5

1
0
5

1
2
5
 
m

m
 
[
4
 
1
5
/
1
6
"
]

1
0

26

56

105

125 mm [4 15/16"]

10

n10 THRU

(4x)

M5x0.8 THRU

(2x)

89

4
5
 
m

m
 
[
1
 
3
/
4
"
]

n1.03"

n1 1/4"

1
0
 
m

m
 
[
3
/
8
"
]

1
2
1

2
5
 
m

m
 
[
1
"
]

PAINT NOTES:

PAINT ALL FABRICATED STEEL 

ONE SHOP COAT OF LIGHT GREY RAL 7035

5

6

7

6

7

5

5

7

6

76

10 X 45° CHAMFER

1
6
0
 
m

m
 
[
6
 
5
/
1
6
"
]

76

2 X 45° CHAMFER

TYP.

2 X 45° CHAMFER

D
O

 
N

O
T
 
P
A
I
N

T

T
H

I
S
 
A
R
E
A

B

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.



MK-D218A ~ SLOTTED SENSOR PLATE

SCALE 6"=1'-0"

MK-D218B ~ SLOT SENSOR LO BRACKET

SCALE 6"=1'-0"

FLAT PATTERN OF ITEM '2'

SCALE 1'-0" = 1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D218A  

  10 3/16"BAR 3/8 x 411

   M10x1.5 x 30mm LG. HEX CAP SCREW24

   M5x0.8 x 20mm LG. HEX SOCKET HEAD 

CAP SCREW

65

   TOTAL WEIGHT ~ 2.9 lbs  

      

   MK-D218B  

  5"SHT 11 GA x 4 5/1612

 5-10 3/8"-16 THD. 3 1/8" ID U-BOLT CLAMP 

McMASTER PART NO. 3042T35

13

   TOTAL WEIGHT ~ 0.5 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
1
2
 
R
e
v
s
C
 
D

-
L
O

C
 
P
P
R

B
6
\
1
8
7
5
D

2
1
8
.
d
w

g

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D218

1875

B MC

7/11/2022

DIM'S ADDED  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
AH

CW

1875D218
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

13 17 20 40 20 40 20 40 15 21 13

43 32 28 32 28 32 4211 11

1
6

M5x0.8 THRU

(6x)

11 THRU

(2x)

1
0
 
m

m
 
[
3
/
8
"
]

259 mm [10 3/16"]

3
0

T
Y
P
.

3
6

T
Y
P
.

1
0
2
 
m

m
 
[
4
"
]

4
7

T
Y
P
.

5
6

T
Y
P
.

3

8

.

2

°

R3

TYP.

DOWN 90° R3

R3

TYP.

24

2
5

45

19

109

127 mm [5"]

2
0

6
4

86

2

1

.
8

°

11 x 26 LG. SLOT THRU

(2x)

2

3

2

3

4

1

5

3 1/2" [89 mm]

1
3

1
0
9
 
m

m
 
[
4
 
5
/
1
6
"
]

3
2

3 (11 GA.)

4
 
9
/
1
6
"
 
[
1
1
6
 
m

m
]

3
 
1
/
8
"
 
[
7
9
 
m

m
]

REF.

MK-B PAINT ALL FABRICATED STEEL WITH ONE 

SHOP COAT OF PURE ORANGE RAL 2004

PAINT NOTES:

MK-A PAINT ALL FABRICATED STEEL 

ONE SHOP COAT OF LIGHT GREY RAL 7035

8
0

35

B

B

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.



MK-D219A ~ SLOT SENSOR DO BRACKET

SCALE 1'-0" = 1'-0"

FLAT PATTERN OF ITEM '1'

SCALE 1'-0" = 1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D219A  

  6"SHT 7 GA x 2 13/1611

   M8x1.25 x 20mm LG. HEX SOCKET 

HEAD CAP SCREW

22

   M4x0.7 x 20mm LG. HEX SOCKET HEAD 

CAP SCREW

23

   TOTAL WEIGHT ~ 0.5 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
1
2
 
R
e
v
s
C
 
D

-
L
O

C
 
P
P
R

B
6
\
1
8
7
5
D

2
1
9
.
d
w

g

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D219

1875

B MC

7/11/2022

BEND RADUIS REVISED  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
AH

CW

1875D219
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

1
2
2

72

UP 90° R3

DOWN 90° R3

12

45

6
0

3
3

5
9

3
0

1
0

1
5

2
5

1
5
2
.
8
 
m

m
 
[
6
"
]

47

R2

TYP.

6

4
0

5

72 mm [2 13/16"]

M4x0.7 THRU

(2x)

9 THRU

(2x)

59

60

3
6

3
.
0
 
(
7
 
G

A
.
)

3

1

2

3

2

1

1

2

2

3

3

PAINT NOTES:

PAINT ALL FABRICATED STEEL 

ONE SHOP COAT OF LIGHT GREY RAL 7035

2

3

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.



MK-D220A ~ D-LOC PRB6 ASSEMBLY

SCALE 3/4"=1'-0"

ENLARGED VIEW 'A'

SCALE 1 1/2"=1'-0"

ENLARGED VIEW 'B'

SCALE 1 1/2"=1'-0"

ENLARGED VIEW 'C'

SCALE 1 1/2"=1'-0"

SECTION 'D-D'

SCALE 1 1/2"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D220A  

   MK-D221A ~ D-LOC PRB6 FRAME 

WELDMENT

11

   MK-D231A ~ GUIDE ROLLER ASSEMBLY22

   MK-D236A ~ LIFTER BRACKET 

ASSEMBLY

43

   MK-D116A ~ DRIVE ROLLER SPACER14

   MK-D116B ~ DRIVE ROLLER SPACER215

   MK-D114A ~ STATIC WHEEL ASSEMBLY26

   MK-D119A ~ ENCODER READER MTG PL17

   MK-D119B ~ ENCODER READER 

HORSESHOE PL

18

   MK-D120A ~ END COVER PLATE29

   MK-D120B ~ MID COVER PLATE110

   MK-D121A ~ ROLLER WASHER1012

   MK-D121B ~ MOTOR END SPACER113

   PALLET DRIVER ROLLER, DUGOMRULLI 

PART NO 332192V M12

114

   PALLET DRIVEN ROLLER, DUGOMRULLI 

PART NO 329638V

515

 3-1 PTI ~ OWFZ207X35A_35 MM SHAFT 

DIA., 2 BOLT FLANGE BEARING

216

 3-3 16 MM DIA. X 85 MM LG HEADLESS 

FIXTURE PIN HARDENED AND GROUND 

W/RETAINER ~ E&ESP #16-85-MHR

117

 2-1 GATES POWERGRIP GT4 BELT ~ 

2400-8MGT-85

518

 4-2 WCS-MP1 ~ BAR CODE READER MTG 

PLATE ~ PEPPERL&FUCHS

119

 4-1 WCS3B-LS310D READ HEAD ~ 

PEPPERL&FUCHS

120

 1-1 SIEMENS RB1 GEARMOTOR (SEE 

MOTOR DATA LIST)

122

 3-4 NO-SLIP CLIP-ON BARREL NUT-M10 X 

1.5 MM ~ McMASTERCARR PART # 

95210A240

1823

   M12x1.75 x 30mm LG. HEX SOCKET 

HEAD CAP SCREW

424

   M12x1.75 x 40mm LG. HEX CAP SCREW1325

   M12 SPRING LOCK WASHER126

   M10x1.5 x 25mm LG. HEX SOCKET 

HEAD CAP SCREW

1027

   M10x1.5 x 25mm LG. HEX CAP SCREW1828

   M10x1.5 x 16mm LG. HEX CAP SCREW229

   M8x1.25 x 25mm LG. HEX SOCKET 

HEAD CAP SCREW

230

   M6x1 x 16mm LG. HEX SOCKET HEAD 

CAP SCREW

134

   M5x0.8 x 12mm LG. HEX SOCKET HEAD 

CAP SCREW

235

   M3x0.5 x 10mm LG. HEX SOCKET HEAD 

CAP SCREW

638

   MK-D240A ~ RF CODE READER BRKT139

   M8 x 1.25 STOVER LOCK NUT240

   M12 NARROW FLAT WASHER3641

   M12 x 1.75 STOVER LOCK NUT2442

   M12x1.75 x 35mm LG. HEX CAP SCREW1243

   M6x1 x 20mm LG. HEX CAP SCREW244

   M6 NARROW FLAT WASHER245

 16-1 10 x 8 x 140 LG. ROUNDED 

RECTANGULAR KEYSTOCK

146

A

B

C

D

D

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
2
7
 
M

i
s
c
 
D

L
O

C
 
P
P
R

B
 
R

e
v
s
\
D

W
G

\
1
8
7
5
D

2
2
0
 
-
 
R

E
V
 
D

.
d
w

g

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D220 - REV D

1875

D MC

7/27/2022 ADDED SPACER, ADDED ITEM '46', & SECTION D

 

C MC

7/13/2022

REMOVED ITEMS '31', '32', '36', '37'; ADDED ITEMS 

'41', '42', '43', '44', '45'; REVISED DESCRIPTION OF 

ITEM '6' & '17'; REVISED QTY OF ITEM '12' WAS 12 

NOW 10, ITEM '25' WAS 1 NOW 13, ITEM '27' WAS 

12 NOW 10, ITEM '38' WAS 4 NOW 6, ITEM '40' WAS 

4 NOW 2; ADDED ABM # TO ITEMS '16' & '20'; 

REVISED SHOP NOTES; REVISED BALLOONS

 

B MC

7/6/2022

ADDED ROLLER SUPPORT PLATES  

A MC

7/1/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096D

CAMPUS BUILDING
AH

CW

1875D220
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

16

10

9

3

1

15

3

2

27

12

28

6

23

3

1510 628 23

3

1

16

16

14

24

5593 O.A.

REF.

2
5
3

4
1
9

2x

2x

2

6

10x

5x

18x

4x

10x

18x

18x

14

6

2x

2x

2

2

3

69 10

15

14

12

18 2328

2427

1

2x

2x

10x

5x

5x

18x 18x

10x

4x

31

5x

18x

2x

2x

2x

5
2
6

409

1174

178

1590

252622 13 3417

16

29

4445

44 45

20 19

7

29

38

1

1

35

40 30

35

53255 SPACES @ 1065 = 

39

1

6x

6

16
3

2x

3

2x

6

8

4

14

25 41 42

6x 6x 6x

25 41 42

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

6x 6x

6x

254142

6x
6x

6x

9 2712

10x10x

414243

12x6x
6x

25 41 42

12x
12x

12x

9

414243

6x6x6x

414243

6x
6x

6x

414243

6x6x6x

9

C

C

C

C

C

C

C

C

C

C

C

C

C

C

C

APPLY BLUE LOCTITE TO THIS CONNECTION

D

5

D

D

46

25 26

13

22

16

22

4

D

 APPLY BLUE LOCTITE

 APPLY BLUE LOCTITE



MK-D221A ~ D-LOC PRB6 FRAME WELDMENT

SCALE 3/4"=1'-0"

SECTION 'A-A'

SCALE 1 1/2"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D221A  

   MK-D223A ~ SIDE FRAME11

   MK-D224A ~ SIDE FRAME12

   MK-1875D106A ~ END FRAME23

   MK-D226A ~ INNER CROSS MEMBER24

   MK-D227A ~ INNER CROSS MEMBER25

   MK-D225A ~ MID FRAME16

   MK-D111A ~ MOTOR MOUNTING PLATE27

   MK-D111D ~ CLEVIS18

   MK-D111B ~ RETAINER69

   MK-D113A ~ BRACKET210

   MK-D113B ~ ENCODER BRACKET211

   MK-D227C ~ STIFFENER PLATE212

   MK-D227B ~ STIFFENER PLATE213

   MK-D118A ~ BAR CODE READER BRKT114

   MK-D229A ~ ROLLER RETAINING PLATE415

   M8 NARROW FLAT WASHER416

   M8x1.25 x 25mm LG. HEX CAP SCREW217

   M8 x 1.25 STOVER LOCK NUT218

   TOTAL WEIGHT ~ 775.8 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
D

e
t
a
i
l
s
\
1
8
7
5
D

2
2
1
.
d
w

g

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D221

1875

C MC

7/13/2022

ADDED ITEMS '16', '17', & '18'; UPDATED SHOP 

NOTES; ADDED SECTION 'A'

 

B MC

7/6/2022 ADDED ITEM #15 & QTY OF ITEM #9 WAS 10

 

A MC

7/1/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096C

CAMPUS BUILDING
AH

CW

1875D221
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

5

4

5

6

2

1

3

3

14

8

7

9

11

7

10x

10

2x

13

2x

7

8

9 2

1

7

10

5

13

14

4

4

6

11

3

3

9 6

3

13

5

10 8 411

3

3

2

8

1 14

10

7

13

5

12

6

7

11

5513

5593 O.A.

5
5
9

R
E
F
.

1
8
3
5

R
E
F
.

3
3
6
3

R
E
F
.

4
7
0
3

R
E
F
.

0

0

289

1152

1207

45

534

674

2
5
0

4

10

12

12 1

1114

10

12

12

10

4

9

1
4
9
6

PAINT NOTES:

PAINT ALL FABRICATED STEEL WITH ONE 

SHOP COAT OF PURE ORANGE RAL 2004

213

2
3

15

15

15

15

4x

4x

4x

426

161718

2x

C

16 17 18

2x

C

C

C

C

161718

2x

C

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

C

4x

5

13

13

13125

C

6
5
8

7
5
8

4
7
5
5

4
8
5
5

2264

1065 1065 1065 1065 1065



MK-D223A ~ SIDE FRAME

SCALE 1"=1'-0"

FLAT PATTERN OF ITEM '1'

SCALE 1"=1'-0"

ENLARGED VIEW 'A'

SCALE 6"=1'-0"

ENLARGED VIEW 'B'

SCALE 6"=1'-0"

A

B

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D223A  

  18'-4 3/16"PL 3/16 x 1'-1 3/8"11

   TOTAL WEIGHT ~ 153.5 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
D

e
t
a
i
l
s
\
1
8
7
5
D

2
2
3
.
d
w

g

PAINT NOTES:

PAINT AFTER WELDING

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D223

1875

B MC

7/14/2022

REVISED DIMENSIONS & SHOP NOTE  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
PWP

CW

1875D223
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

3
4
.
8

4
0
.
0

1
3
4
.
0

9
2
1
.
1

1
1
9
9
.
0

1
5
3
4
.
3

1
5
4
0
.
3

1
5
5
1
.
0

1
5
7
9
.
0

1
6
0
1
.
0

1
6
2
9
.
0

1
6
3
9
.
3

1
6
4
5
.
3

2
1
0
4
.
0

2
1
9
9
.
0

2
3
2
9
.
0

2
4
2
4
.
0

3
1
4
1
.
0

3
3
2
9
.
0

3
9
4
7
.
5

3
9
5
3
.
5

3
9
6
4
.
3

3
9
9
2
.
3

4
0
1
4
.
3

4
0
4
2
.
3

4
3
9
4
.
0

4
6
7
1
.
9

4
9
6
4
.
0

5
4
5
9
.
0

0

4
0
5
2
.
5

4
0
5
8
.
5

5
5
5
3
.
0

5
5
5
8
.
3

0

5
9
8
.
6

6
0
7
.
6

6
1
8
.
4

6
5
7
.
4

6
9
3
.
4

7
5
6
.
4

7
9
2
.
4

8
3
1
.
4

8
4
2
.
1

8
5
1
.
1

1
2
1
3
.
5

1
3
6
9
.
1

1
5
2
4
.
7

1
8
7
3
.
6

1
8
8
2
.
6

1
8
9
3
.
4

1
9
3
2
.
4

1
9
6
8
.
4

2
0
3
1
.
4

2
0
6
7
.
4

2
1
0
6
.
4

2
1
1
7
.
1

2
1
2
6
.
1

3
4
0
1
.
6

3
4
1
0
.
6

3
4
2
1
.
4

3
4
6
0
.
4

3
4
9
6
.
4

3
5
5
9
.
4

3
5
9
5
.
4

3
6
3
4
.
4

3
6
4
5
.
1

3
6
5
4
.
1

4
0
6
8
.
3

4
2
2
3
.
9

4
3
7
9
.
5

4
7
4
1
.
7

4
7
5
0
.
7

4
7
6
1
.
5

4
8
0
0
.
5

4
8
3
6
.
5

4
8
9
9
.
5

4
9
3
5
.
5

4
9
7
4
.
5

4
9
8
5
.
2

4
9
9
4
.
2

6
6
4
.
0

2
2
6
4
.
0

0

18.5

57.5

98.5

151.5

192.5

231.5

150.0

158.0

219.8

240.8

165.8

192.8

55.0

90.0

180.0

27 THRU

(4x)

194

135.8

120.0

128.0

162.8

60.0

140.0

90.0

180.0

55.0

194.2

13 THRU

(6x)

18.0 THRU

(2x)

12.5 THRU

(2x)

55.0

48.8

54.8

64.6

78.2

65

130

320

5
5
.
0

3
3
.
2

18.0 THRU

(2x)

12.5 THRU

(2x)

23

46

8.6

17.2

7
0
.
0

1
3
.
0

3
0
.
3

90

45

HOLD

2
5
0

H
O

L
D

60

REF

3
/
1
6
"

3
3
9
 
m

m
 
[
1
'
-
1
 
3
/
8
"
]

4
1

2
4
2

5
6

5593 mm [18'-4 3/16"]

0

25.2

34.6

60.0

40.2

0

6
0
.
0

9
3
1
.
7

1
2
5
4
.
3

1
4
8
4
.
3

1
8
0
3
.
5

1
9
2
4
.
7

2
7
9
6
.
5

3
6
6
8
.
2

3
7
8
9
.
5

4
1
0
8
.
7

4
3
3
8
.
7

4
6
6
1
.
2

5
5
3
3
.
0

3
0

43

TYP

Ø19.05 x 25.4 

THRU SLOT (2x)

9 x 5 THRU

(2x)

Ø13 x 28 THRU SLOT 

(9x)

13 THRU

(4x)

R50

UP 90 R9

DOWN 90 R9

UP 90 R9

R2.25

TYP.

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

100 137 137 100

5
4

4
1

14 THRU

(6x)

2
0
2
7

2
5
0
1

2
1
2
7

2
4
0
1

14 THRU

(6x)

B

B

B
B

B

B

B

41

95

B



MK-D224A ~ SIDE FRAME

SCALE 1"=1'-0"

FLAT PATTERN OF ITEM '1'

SCALE 1"=1'-0"

ENLARGED VIEW 'A'

SCALE 6"=1'-0"

ENLARGED VIEW 'B'

SCALE 6"=1'-0"

A

B

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D224A  

  18'-4 3/16"PL 3/16 x 1'-1 3/8"11

   TOTAL WEIGHT ~ 153.6 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
1
2
 
R
e
v
s
C
 
D

-
L
O

C
 
P
P
R

B
6
\
D

W
G

\
1
8
7
5
D

2
2
4
.
d
w

g

PAINT NOTES:

PAINT AFTER WELDING

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D224

1875

B MC

7/14/2022

REVISED DIMENSIONS AND SHOP NOTE  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
PWP

CW

1875D224
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

4
0
.
0

3
4
.
8

0 1
3
4
.
0

9
0
4
.
6

8
8
4
.
4

8
5
1
.
4

8
7
1
.
6

9
2
1
.
1

1
1
9
9
.
0

2
1
0
4
.
0

2
1
9
9
.
0

2
2
6
4
.
0

2
3
2
9
.
0

2
4
2
4
.
0

3
1
4
1
.
0

3
3
2
9
.
0

4
3
9
4
.
0

4
6
7
1
.
9

4
7
4
1
.
6

4
7
2
1
.
4

4
7
0
8
.
6

4
6
8
8
.
4

5
4
5
9
.
0

5
5
5
8
.
3

5
5
5
3
.
0

6
0
7
.
6

5
9
8
.
6

8
5
1
.
1

8
4
2
.
1

7
5
6
.
4

6
9
3
.
4

6
5
7
.
4

6
1
8
.
4

8
3
1
.
4

7
9
2
.
4

1
2
1
3
.
5

1
3
6
9
.
1

1
5
2
4
.
7

2
1
2
6
.
1

2
1
1
7
.
1

2
1
0
6
.
4

2
0
6
7
.
4

2
0
3
1
.
4

1
9
6
8
.
4

1
9
3
2
.
4

1
8
8
2
.
6

1
8
7
3
.
6

1
8
9
3
.
4

3
4
0
1
.
6

3
4
1
0
.
6

3
5
9
5
.
4

3
6
3
4
.
4

3
4
2
1
.
4

3
4
6
0
.
4

3
4
9
6
.
4

3
5
5
9
.
4

3
6
5
4
.
1

3
6
4
5
.
1

4
0
6
8
.
3

4
2
2
3
.
9

4
3
7
9
.
5

4
7
4
1
.
7

4
7
5
0
.
7

4
9
8
5
.
2

4
9
9
4
.
2

4
7
6
1
.
5

4
8
0
0
.
5

4
9
3
5
.
5

4
9
7
4
.
5

4
8
3
6
.
5

4
8
9
9
.
5

.0

57.5

18.5

98.5

151.5

192.5

231.5

158.0

150.0

192.8

165.8

240.8

219.8

180.0

90.0 54.1

46.1

162.8

135.8

128.0

120.0

60.0

140.0

194.2

13.0 THRU

(6x)

18.0 THRU

(2x)

12.5 THRU 

(2x)

194.2

90.0

180.0

55.0

6
6
4
.
0

4
9
6
4
.
0

55.0

0

6
0
.
0

9
3
1
.
7

1
2
5
4
.
3

1
4
8
4
.
3

1
8
0
3
.
5

1
9
2
4
.
7

2
7
9
6
.
5

3
6
6
8
.
2

3
7
8
9
.
5

4
1
0
8
.
7

4
3
3
8
.
7

4
6
6
1
.
2

5
5
3
3
.
0

0

25.2

34.6

60.0

40.2

43

TYP

3
0

Ø13 THRU

(9x)

13 THRU

(4x)

27 THRU

(4x)

Ø19.05 x 25.4

THRU SLOT (2x)

45.0

HOLD

60.0

HOLD

2
5
0
.
0

H
O

L
D

9.0 THRU

(2x)

23

46

8.6

17.2

7
0

H
O

L
D

1
3
.
0

3
0
.
3

5
5

18.0 THRU

(2x)

65

90

130

320

3
3
.
2

5593 mm [18'-4 3/16"]

4
1

2
4
2

5
6

3
3
9
 
m

m
 
[
1
'
-
1
 
3
/
8
"
]

12.5 THRU

(2x)

R2.25

R50.0

UP 90 R9

UP 90 R9

DOWN 90 R9

4
.
8
 
m

m
 
[
3
/
1
6
"
]

100 137 137 100

5
4

4
1

45.0

14.0 THRU

(6x)

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

B

B

B

B

B

B

B

1

1

1

1

B

2
0
2
7
.
0

2
5
0
1
.
0

41.0

95.095.095.0

2
1
2
7
.
0

2
4
0
1
.
0



MK-D225A ~ MID FRAME

SCALE 1"=1'-0"

FLAT PATTERN OF ITEM '1'

SCALE 1"=1'-0"

ENLARGED VIEW 'D'

SCALE 3"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D225A  

  18'-2 1/16"PL 3/16 x 8 3/8"11

   TOTAL WEIGHT ~ 86.8 lbs  

D

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
D

e
t
a
i
l
s
\
1
8
7
5
D

2
2
5
.
d
w

g

PAINT NOTES:

PAINT AFTER WELDING

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D225

1875

B MC

7/14/2022

REVISED DIMENSIONS AND SHOP NOTE  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
RPM

CW

1875D225
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

.
0

1
2
.
5

3
4
.
0

9
4
.
0

1
5
4
.
0

1
0
9
9
.
0

1
1
5
9
.
0

1
2
1
9
.
0

1
4
9
4
.
5

1
5
0
0
.
5

1
5
1
1
.
0

1
5
3
9
.
0

1
5
6
1
.
0

1
5
8
9
.
0

1
5
9
9
.
5

1
6
0
5
.
5

1
7
8
3
.
6

1
7
8
9
.
7

2
1
6
4
.
0

2
2
2
4
.
0

2
2
8
4
.
0

3
2
2
9
.
0

3
2
8
9
.
0

3
3
4
9
.
0

3
6
4
7
.
1

3
6
5
3
.
2

3
9
0
7
.
5

3
9
1
3
.
5

3
9
2
4
.
0

3
9
5
2
.
0

3
9
7
4
.
0

4
0
0
2
.
0

4
0
1
2
.
5

4
0
1
8
.
5

4
2
9
4
.
0

4
3
5
4
.
0

4
4
1
4
.
0

5
3
5
9
.
0

5
4
1
9
.
0

5
4
7
9
.
0

5
5
1
3
.
0

.
0

1
8
3
2
.
9

1
8
9
2
.
9

1
9
2
9
.
5

1
9
8
9
.
5

2
0
2
6
.
1

2
0
8
6
.
0

3
3
6
1
.
4

3
4
2
1
.
4

3
4
5
8
.
0

3
5
1
8
.
0

3
5
5
4
.
6

3
6
1
4
.
5

5
5
1
3
.
0

.0

15.8

18.6

36.1

42.3

47.8

48.3

55.0

55.6

57.8

63.3

71.8

90.6

119.0

124.6

131.0

3
6

1
4
1

3
6

2
1
3
 
m

m
 
[
8
 
3
/
8
"
]

5538 mm [18'-2 1/16"]

UP 90° R6.35

DOWN 90° R6.35

R6

TYP.

3x45°

TYP.

R60

TYP.

40

HOLD

1
4
9

H
O

L
D

3
/
1
6
"

40

REF.

R6.00

TYP.

3x45°

TYP.

3x45°

TYP.

(9x) Ø13 x 28 LG. SLOT THRU

.
0

1
2
.
5

2
3
.
0

8
9
4
.
7

1
7
6
6
.
5

1
8
8
7
.
7

2
7
5
9
.
5

3
6
3
1
.
2

3
7
5
2
.
5

4
6
2
4
.
2

5
4
9
6
.
0

1

1

1

1

60 37 60 37 60

1
2

3 X 45° CHAMFER

TYP.

1
8

R60

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

B

B

B

B



MK-D226A ~ INNER CROSS MEMBER

SCALE 3"=1'-0"

FLAT PATTERN OF ITEM '1'

SCALE 3"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D226A  

  4'- 1/2"PL 1/4 x 1'-1/8"11

   TOTAL WEIGHT ~ 41.4 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
6
-
2
0
 
M

i
l
l
e
r
 
F
o
r
 
F
a
b
\
1
8
7
5
D

2
2
6
.
d
w

g

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

 

PAINT NOTES:

PAINT AFTER WELDING

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D226

1875

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/17/22

P6700 CONVEYORS

VOLVO

22096A

CAMPUS BUILDING
RPM

XXX

1875D226
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

4
0

R
E
F
.

4
0

R
E
F
.

250

1/4"

3
4

2
3
9

3
4

3
0
8
 
m

m
 
[
1
'
-
 
1
/
8
"
]

.0

6.4

14.0

16.5

40.0

.0

6.4

15.5

20.5

55.5

95.5

154.5

194.5

229.5

234.5

243.7

250.0

.0

57.5

96.5

153.5

192.5

.
0

1
2
.
5

1
6
.
5

3
3
5
.
7

3
4
3
.
7

8
8
8
.
3

8
9
6
.
3

1
2
1
5
.
5

1
2
1
9
.
5

1232 mm [4'- 1/2"]

3x45°

TYP.

3x45°

TYP.

UP 90~ R13

UP 90~ R13



MK-D227A ~ INNER CROSS MEMBER

SCALE 3"=1'-0"

FLAT PATTERN OF ITEM '1'

SCALE 3"=1'-0"

MK-D227C ~ STIFFENER PLATE

SCALE 6"=1'-0"

MK-D227B ~ STIFFENER PLATE

SCALE 3"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D227A  

  4'- 1/2"PL 1/4 x 1'-4 13/16"11

   TOTAL WEIGHT ~ 56.1 lbs  

      

   MK-D227C  

  6 11/16"PL 3/8 x 5 1/8"13

   TOTAL WEIGHT ~ 3.6 lbs  

   MK-D227B  

  3'-7 1/8"PL 1/4 x 9 13/16"12

   TOTAL WEIGHT ~ 29.7 lbs  

      

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
8
-
2
3
 
P
P
R
B
 
D

2
2
7
 
R
e
v
\
1
8
7
5
D

2
2
7
 
-
 
R

E
V
 
B
.
d
w

g

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

 

PAINT NOTES:

PAINT AFTER WELDING

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D227 - REV B

1875

B MC

8/23/2022

REVISED LENGTH AND SLOTS MK-D227B  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
RPM

CW

1875D227
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

15 140

REF.

170 mm [6 11/16"]

1
5

1
1
5

1
3
0
 
m

m
 
[
5
 
1
/
8
"
]

10

155 15

REF.

1
0
0

R
E
F
.

3

3

1
5

R
E
F
.

R15

TYP.

M10x1.5 THRU

(4x)

9
9

250

1/4"

37

1

9
3
.
7

2
3
9
.
0

DOWN 90° R6

DOWN 90° R6

1
4
 
B
.
A
.

T
Y
P
.

.0

6.4

15.5

20.5

55.5

95.5

154.5

194.5

229.5

234.5

243.6

250.0

.0

64.7

97.7

182.0

197.7

214.0

.
0

1
2
.
5

4
.
0

3
0
5
.
0

5
3
3
.
5

5
8
5
.
0

6
2
2
.
0

6
7
3
.
5

9
0
2
.
0

1
2
0
3
.
0

1
2
0
6
.
9

1232

.0

12.7

.0

6.4

14.0

16.5

41.5

70.5

88.5

94.2

99.2

.
0

1
2
.
5

1
6
.
5

1
9
.
7

2
5
.
4

1
0
9
.
0

1
6
9
.
0

3
4
7
.
5

4
0
7
.
5

5
8
6
.
0

6
4
6
.
0

8
2
4
.
5

8
8
4
.
5

1
0
6
3
.
0

1
1
2
3
.
0

1
2
0
6
.
6

1
2
1
2
.
3

1
2
1
9
.
5

1

9
9

7
.
2

4
2
6
 
m

m
 
[
1
'
-
4
 
1
3
/
1
6
"
]

9
3
.
7

Ø9 x 10mm LG. SLOT

(4x)

n10.5 THRU

(4x)

1

1

0

6

244

250

2

3x45°

TYP.

1232 mm [4'-0 1/2"]

2
5
0
 
m

m
 
[
9
 
1
3
/
1
6
"
]

0 9
5

2
7
2

3
3
4

5
1
0

5
7
2

7
4
9

8
1
1

9
8
7

1082 mm [3'-6 5/8"]



MK-D228A ~ GATES 32 TOOTH SPROCKET

SCALE 1'-0" = 1'-0"

SECTION 'A-A'

SCALE 1'-0" = 1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D228A  

 5-2 SPROCKET, GATES POWERGRIP 

PART_NO P32-14MGT-85

11

   TOTAL WEIGHT ~ 18.4 lbs  

A

A

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
6
-
2
0
 
M

i
l
l
e
r
 
F
o
r
 
F
a
b
\
1
8
7
5
D

2
2
8
.
d
w

g

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

 

PAINT NOTES:

1. DO NOT PAINT

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

6/17/22

P6700 CONVEYORA

VOLVO

22096A

CAMPUS BUILDING
RPM

XXX

1875D228
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

 7
4
.
6
6
3

7
4
.
6
1
2

Ø

n1
0
2

 8
0
.
3
4
2

8
0
.
0
8
6

n1
5
6

R
E
F
.

103

128

 

22.026

21.974

1

1

1

1

KEYWAY AND SET SCREWS TO BE

INLINE WITH VALLEY OF TOOTH

(2x) M16 x 2.0 TAP THRU CENTERED

ON VALLEYS OVER KEYWAY & 90° APART

52



MK-D229A ~ ROLLER RETAINING PLATE

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D229A1 

  1'-4 3/4"PL 3/16 x 5 5/16"11

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
D

e
t
a
i
l
s
\
1
8
7
5
D

2
2
9
.
d
w

g

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

 

PAINT NOTES:

1. PAINT (ONE) SHOP COAT PRIMER.

2. PAINT (2) FINISH COATS

 

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

A MC 7-06-2022 FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

7/01/2022

P6700 CONVEYORS

VOLVO

22096A

CAMPUS BUILDING
SGS

XXX

1875D229
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

194 10

REF

19

REF

9

REF

195

REF

204

222

231

426 mm [1'-4 3/4"]

8
8

R
E
F

2
7

R
E
F

2
0

4
7

1
3
5
 
m

m
 
[
5
 
5
/
1
6
"
]

6
2

173

173

R8

TYP.

8 mm [5/16"]

1

5

7

.

1

°

T

Y

P

.



D230A ~ SAFETY PIN WELDMENT

SCALE 6"=1'-0"

DETAIL OF ITEM '3'

SCALE 1'-0" = 1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D230A  

  1'-2"TS 2 x 2 x 1/411

  2 1/2"TS 1 1/2 OD x 15/64 DOM12

  1 3/4"SHT 11 GA x 1 3/413

   TOTAL WEIGHT ~ 5.5 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
1
2
 
R
e
v
s
C
 
D

-
L
O

C
 
P
P
R

B
6
\
1
8
7
5
D

2
3
0
.
d
w

g

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D230

1875

B MC

7/11/2022

HOLE NOTE REVISED  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
AH

CW

1875D230
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

2

3

1

1

2

3

3

3

2

1

3

44 mm [1 3/4"]

4
4

R6

TYP.

11 GA. 

3
5
5
 
m

m
 
[
1
'
-
2
"
]

2
7

3
2
8

3 6

3 44 3

2
7

25

51 mm [2"]

64 mm [2 1/2"]

51 mm [2"]

1 1/2"

1 1/16"

1

1/8

3/16

3/16

8

1 1/2" THRU

ITEM '1'

B

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

PAINT NOTES:

PAINT AFTER WELDING TO BASE



MK-D231A ~ GUIDE ROLLER ASSEMBLY

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D231A  

   MK-D232A ~ GUIDE ROLLER 

WELDMENT AND MACHINING

11

   MK-D233A ~ LIFTER BRACKET 40mm 

SHAFT

12

 5-7 INA TRACK ROLLER NUTR4034

   MK-D233B ~ GUIDE ROLLER SPACER25

 5-8 EXTERNAL RETAINING RING PART 

McMASTER-CARR 98541A167

46

   M10 REGULAR FLAT WASHER47

   M10x1.5 x 35mm LG. HEX CAP SCREW68

   M10 x 1.5 HEX JAM NUT29

   TOTAL WEIGHT ~ 20.9 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
6
-
2
0
 
M

i
l
l
e
r
 
F
o
r
 
F
a
b
\
1
8
7
5
D

2
3
1
.
d
w

g

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

 

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D231

1875

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

 

P6700 CONVEYORS

VOLVO

22096A

CAMPUS BUILDING
AH

XXX

1875D231
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

6

2

7

8

1

4

9

1

5

1

8

9

7

1

4

5

6

6

2

6

5

8

1

9

8 7

7
8

9

2

6

4

5

1

1

2x

3x

2x

4x

4x

6x

2x

2x

3x

2x

4x

4x

6x

2x

2x

3x

2x

6x

4x

6x

2x

4

3x

2x

4x

4x

2x

2x

131

8
0

2
0
0

10035

174

4x

PAINT NOTES:

PAINT ALL FABRICATED STEEL WITH ONE 

SHOP COAT OF PURE ORANGE RAL 2004



MK-D232A ~ GUIDE ROLLER WELDMENT AND MACHINING

SCALE 6"=1'-0"

DETAIL OF ITEM '3'

SCALE 6"=1'-0"

DETAIL OF ITEM '1'

SCALE 6"=1'-0"

DETAIL OF ITEM '2'

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D232A  

  7 7/8"PL 1/2 x 5 13/16"11

  8 3/16"PL 3/8 x 7 7/8"12

  7 15/16"PL 1/2 x 3 1/8"23

   MK-D233C ~ GUIDE ROLLER STUD24

   TOTAL WEIGHT ~ 17.6 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
D

e
t
a
i
l
s
\
1
8
7
5
D

2
3
2
.
d
w

g

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D232

1875

B MC

7/14/2022

REVISED DIMENSIONS & SHOP NOTE  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
AH

CW

1875D232
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

3

3

2

1

195

7
2

202 mm [7 15/16"]

7
9
 
m

m
 
[
3
 
1
/
8
"
]

R2

TYP.

36 THRU

12.7 mm [1/2"]

200 mm [7 7/8"]

R25

TYP.

R2

TYP.

9.5 mm [3/8"]

2
0
8
 
m

m
 
[
8
 
3
/
1
6
"
]

R
E
F
.
 
S
T
K
.

10.5 x 25 LG. SLOT THRU

(4x)

2

3

1

2

31

3

2X

12.7 mm [1/2"]

R15

TYP.

R2

TYP.

1
4
8
 
m

m
 
[
5
 
1
3
/
1
6
"
]

R
E
F
.
 
S
T
K
.

200 mm [7 7/8"]

REF. STK.

211

3

3

2

1

(6)

B.S. TYP.

(4x)

12.7

50.4

60.4

52.9

67.4

116.4

122.9

148.0

0

1
9

5
1

0 7
0
.
5

8
2
.
5

1
1
7
.
5

1
2
9
.
5

1
4
9

1
8
1

2
0
0

.0

65.0

10.0

35.8

55.0

80.0

109.0

159.0

188.0

165.0

198.0

0 3
0
.
0

7
0
.
8

8
3
.
5

1
1
6
.
5

1
2
9
.
2

1
7
0
.
0

2
0
0
.
0

2
2
.
5

4
7
.
50

7
0
.
8

1
2
9
.
2

1
1
6
.
5

8
3
.
5

1
5
2
.
5

1
7
7
.
5

2
0
0
.
0

0

3
3

8
3

1
0
5

1
6
2

1
8
5

1
9
5

2
4
.
3 7

7

0

28

55

72

8

0

50.4

0

7
0
.
5

1
1
6
.
8

25 mm LG. WELD 

B.S. TYP.

40

40 mm LG. WELD

TYP.

40

M10x1.5 TAP THRU

(2x)


40

40.025

 BORE THRU IN-LINE

1/8

TYP.

 

130.83

130.8

18

3
0

80.4

3
7
.
5

37

4

4

PAINT NOTES:

PAINT ALL FABRICATED STEEL WITH ONE 

SHOP COAT OF PURE ORANGE RAL 2004

DO NOT PAINT MACHINED SURFACES

25.400
-

0.000

0.021

+

(2x)

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

R2

TYP.

3

3

1

1

2

2

4

4

4

4

4

R40

TYP.

B

B

B

B

3
5



MK-D233A ~ LIFTER BRACKET 40mm SHAFT

SCALE 1'-0" = 1'-0"

MK-D233B ~ GUIDE ROLLER SPACER

SCALE 1'-0" = 1'-0"

MK-D233C ~ GUIDE ROLLER STUD

SCALE 1'-0" = 1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D233A  

  2 7/8"BAR Ø1 5/8 (1045)11

   TOTAL WEIGHT ~ 1.6 lbs  

      

   MK-D233B  

  2 5/8"PL 3/16 x 2 5/8"12

      

   MK-D233C  

  2 3/8"BAR Ø2 3/813

   TOTAL WEIGHT ~ 1.4 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
2
7
 
M

i
s
c
 
D

L
O

C
 
P
P
R

B
 
R

e
v
s
\
D

W
G

\
1
8
7
5
D

2
3
3
 
-
 
R

E
V
 
C
.
d
w

g

PAINT NOTES:

NO PAINT

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D233 - REV C

1875

C MC

7/27/2022

DIM TOL'S REVISED  

B MC

7/15/2022

REVISED DIMENSIONS AND SHOP NOTE  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096C

CAMPUS BUILDING
AH

CW

1875D233
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

2

2

2

3

3

3

1

1

1

73 mm [2 7/8"]

63

 

1.99

1.85

1 X 45° CHAMFER

TYP.

 4
0
.
0
0
0

3
9
.
9
8
4

 3
7
.
5
0

3
7
.
2
5

Ø
 

3.4

TYP.

n40.0

 4
0
.
0
0
0

3
9
.
9
8
4

Ø
 

 3
7
.
5
0

3
7
.
2
5

Ø
 

2

42.3

43.3

51.0

61 mm [2 3/8"]

5
.
1
6

 2
5
.
4
0
0

n 2
5
.
3
8
7

5
.
0
0

1
2
.
3
0

 

1.99

1.85

n60.33 mm [n2 3/8"]

0.4

5
0

R.8

1 X 45° CHAMFER

TYP.

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

n66.7

n40.5

4.76 mm [3/16"]

B

B

B

B

B

C

n6
0
.
3
3



MK-D234A ~ 90mm LIFTER REDUCER BASE ASSEMBLY

SCALE 3"=1'-0"

VIEW 'A-A'

SCALE 3"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D234A  

   MK-D235A ~ 90mm LIFTER REDUCER 

MOTOR BASE ASSEMBLY

11

   SIEMENS LT1 GEARMOTOR (SEE MOTOR 

DATA LIST)

12

   M16x2 x 45mm LG. HEX CAP SCREW43

   M16 NARROW FLAT WASHER44

   TOTAL WEIGHT ~ 107.2 lbs  

A

A

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
6
-
2
0
 
M

i
l
l
e
r
 
F
o
r
 
F
a
b
\
1
8
7
5
D

2
3
4
.
d
w

g

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

 

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D234

1875

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

 

P6700 CONVEYORS

VOLVO

22096A

CAMPUS BUILDING
XXX

XXX

1875D234
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

2

1

3

4

4x

4x

2

1

407

3
0
0

1
5
0

220

219

100

PAINT NOTES:

PAINT ALL FABRICATED STEEL 

ONE SHOP COAT OF LIGHT GREY RAL 7035

acole
Text Box
12-1



MK-D235A ~ 90mm LIFTER REDUCER MOTOR BASE ASSEMBLY

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D235A  

  1'-4"PL 5/8 x 11 13/16"11

   M16x2 x 90mm LG. FLAT HEX SOCKET 

HEAD CAP SCREW

42

   M16 REGULAR FLAT WASHER43

   M16 x 2 STOVER LOCK NUT44

   TOTAL WEIGHT ~ 34.6 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
1
2
 
R
e
v
s
C
 
D

-
L
O

C
 
P
P
R

B
6
\
1
8
7
5
D

2
3
5
.
d
w

g

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D235

1875

B MC

7/11/2022

ITEM '4' WAS M16 x 2 HEX NUT  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
AH

CW

1875D235
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

2

4

2

1

3

4x

4x

4x

4
5

4

3

1

4x

4x

4x

18 x 38 LG. SLOT THRU

(4x)

1
6
 
m

m
 
[
5
/
8
"
]

1
3

9

PLUG WELD & GRIND

TYP.

.0

10.7

42.5

407 mm [1'-4"]

3
0
0
 
m

m
 
[
1
1
 
1
3
/
1
6
"
]

215.0

225.00

257.5

4
7
.
8

7
3
.
8

.
0
0

2
6
0
.
0

3
0
7
.
8

3
3
3
.
2

74

START

4
3

90°

COUNTERSUNK FOR 16 mm  FLAT HEAD MACHINE SCREW

PAINT NOTES:

PAINT ALL FABRICATED STEEL 

ONE SHOP COAT OF LIGHT GREY RAL 7035

B

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.



MK-D236A ~ LIFTER BRACKET ASSEMBLY

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D236A  

   MK-D237A ~ LIFTER UPPER BRACKET11

   MK-D239A ~ SHIM PACK12

   MK-D238A ~ LIFTER PLATE13

   MK-D238B ~ LIFTER PLATE14

   MK-D238C ~ LIFTER BRACKET SPACER25

   MK-D237B ~ LIFTER LOWER BRACKET16

   1/2-13UNC x 6 1/2" LG. HEX HEAD CAP 

SCREW ~ GR 5

27

   1/2 TYPE A NARROW FLAT WASHER48

   1/2-13UNC STOVER LOCK NUT29

   TOTAL WEIGHT ~ 19.5 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
6
-
2
0
 
M

i
l
l
e
r
 
F
o
r
 
F
a
b
\
1
8
7
5
D

2
3
6
.
d
w

g

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D236

1875

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

 

P6700 CONVEYORS

VOLVO

22096A

CAMPUS BUILDING
AH

XXX

1875D236
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

789

1

5

6

4

3

2

2x

18 230 18

1
1
2

2
4
7

1

6

8

5

7

8

4

3

2

1

6

5

4

3

2

78

2x
4x2x

5

362

2
4

3
2

PAINT NOTES:

PAINT ALL FABRICATED STEEL WITH ONE 

SHOP COAT OF PURE ORANGE RAL 2004

ASSEMBLE WITH HARDENED 

SURFACE OF ITEM 4 DOWN

2x4x2x

9



MK-D237A ~ LIFTER UPPER BRACKET

SCALE 6"=1'-0"

FLAT PATTERN OF ITEM '1'

SCALE 6"=1'-0"

MK-D237B ~ LIFTER LOWER BRACKET

SCALE 6"=1'-0"

FLAT PATTERN OF ITEM '2'

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D237A  

  1'-2 1/4"PL 3/8 x 4 9/16"11

   TOTAL WEIGHT ~ 6.6 lbs  

      

   MK-D237B  

  10 1/2"PL 3/8 x 3 7/8"12

   TOTAL WEIGHT ~ 4.2 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
D

e
t
a
i
l
s
\
1
8
7
5
D

2
3
7
.
d
w

g

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D237

1875

B MC

7/15/2022

REVISED DIMENSION AND SHOP NOTE  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
AH

CW

1875D237
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

UP 90° R6

5
5

66 230 66

25 156 156 25

2
4

6
7

2
5

4
8

6
9

362 mm [1'-2 1/4"]

1
1
6
 
m

m
 
[
4
 
9
/
1
6
"
]

R13

TYP.

R29

TYP.

9
9

216

3

73

18 230 18

25 216 25

267 mm [10 1/2"]

9
8
 
m

m
 
[
3
 
7
/
8
"
]

5
1

4
7

2
0

6
2

1
6

R13

TYP.

R29

TYP.

9
9

14 THRU

(2x)

12 THRU

(2x)

14 x 24 mm LG. SLOT THRU

(5x)

7
6

5
8

5
5

267

362

UP 90° R6

10 mm [3/8"]

10 mm [3/8"]

2

2

2

2

2

1

1

1

1

1

5
1

25 156 156 25

66 230 66

3
2

3
9

18 230 18

25 216 25

3
8

PAINT NOTES:

PAINT ALL FABRICATED STEEL WITH ONE 

SHOP COAT OF PURE ORANGE RAL 2004

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

B

B



MK-D238A ~ LIFTER PLATE

SCALE 6"=1'-0"

MK-D238B ~ LIFTER PLATE

SCALE 6"=1'-0"

MK-D238C ~ LIFTER BRACKET SPACER

SCALE 1'-0" = 1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D238A  

  10 1/2"PL 1/2 x 2 9/16"11

   TOTAL WEIGHT ~ 3.8 lbs  

      

   MK-D238B  

  10 1/2"PL 5/16 x 2 9/16" ~ SURE ALLOY 500 

STEEL

12

   TOTAL WEIGHT ~ 2.4 lbs  

         MK-D238C  

  3 1/4"TS 3/4 OD x 13 GA ~ ASTM A513 TYPE 

5 TUBE

13

   TOTAL WEIGHT ~ 0.2 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
D

e
t
a
i
l
s
\
1
8
7
5
D

2
3
8
.
d
w

g

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D238

1875

B MC

7/15/2022

REVISED MATERIAL SPECIFICATION & SHOP NOTE  

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096A

CAMPUS BUILDING
AH

CW

1875D238
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

13 mm [1/2"]

19 230 18

2
2

4
3

13.5 THRU

(2x)

8 mm [5/16"]

18 230 19

2
2

4
3

13.5 THRU

(2x)

6
5
 
m

m
 
[
2
 
9
/
1
6
"
]

267 mm [10 1/2"]

267 mm [10 1/2"]

6
5
 
m

m
 
[
2
 
9
/
1
6
"
]

82 mm [3 1/4"]

3/4"

1
9
 
D

I
A
.

2

2

1

1

3

3

PAINT NOTES:

PAINT ALL FABRICATED STEEL WITH ONE 

SHOP COAT OF PURE ORANGE RAL 2004

DO NOT PAINT HARDENED SURFACE

0
.
5
6
0
0

0
.
0
9
5
0
 
1
3
 
G

A
.

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

B

B

B



MK-D239A ~ SHIM PACK

SCALE 1'-0" = 1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D239A  

  10 1/2"SHT 26 GA x 2 9/16"21

  10 1/2"SHT 22 GA x 2 9/16"12

  10 1/2"SHT 11 GA x 2 9/16"13

   TOTAL WEIGHT ~ 1.3 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
6
-
2
0
 
M

i
l
l
e
r
 
F
o
r
 
F
a
b
\
1
8
7
5
D

2
3
9
.
d
w

g

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

 

PAINT NOTES:

NO PAINT

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D239

1875

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

 

P6700 CONVEYORS

VOLVO

22096A

CAMPUS BUILDING
AH

XXX

1875D239
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

3

1

2

3.04 (11 GA.)

.76 (22 GA.)

.45 (26 GA.)

18 230 18

7 7 14

5
0

T
Y
P
.

6
5
 
m

m
 
[
2
 
9
/
1
6
"
]

R7

3 2 1

267 mm [10 1/2"]

2x

2x



MK-D240A ~ RF CODE READER BKT

SCALE 6"=1'-0"

FLAT PATTERN OF ITEM '1'

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D240A  

  1'-1 1/4"BAR 1/4 x 311

   TOTAL WEIGHT ~ 3.2 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
6
-
2
0
 
M

i
l
l
e
r
 
F
o
r
 
F
a
b
\
1
8
7
5
D

2
4
0
.
d
w

g

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

 

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D240

1875

A MC

7/5/2022

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

 

P6700 CONVEYORS

VOLVO

22096A

CAMPUS BUILDING
AH

XXX

1875D240
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

1
2
2

1
2
9

1
3
6

1
3
0

n9 THRU

(2x)

M5x0.8 THRU

(2x)

M5x0.8 THRU

(2x)

n9 THRU

(2x)

1
5

8
0

6
5

6

38 38

6 65 6

UP 90° R8

DOWN 90° R8

1
7
0

1
3
0

8
3

1
2
3

76

2
5
9

3
3
6
 
m

m
 
[
1
'
-
1
 
1
/
4
"
]

76 mm [3"]

6 mm [1/4"]

9
4

76

PAINT NOTES:

PAINT ALL FABRICATED STEEL 

ONE SHOP COAT OF LIGHT GREY RAL 7035



MK-D241A ~ SAFETY PIN WELDMENT LOCATOR ASSEMBLY

SCALE 6"=1'-0"

MK-D241B ~ SAFETY PIN WELDMENT LOCATOR ASSEMBLY

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D241A  

   MK-D242A ~ SAFETY PIN WELDMENT 

LOCATOR MACHINING

11

   MK-D244A ~ SAFETY PIN WELDMENT 

LOCATOR PIN

13

   M10x1.5 x 35mm LG. HEX SOCKET 

HEAD CAP SCREW

24

   DOWEL PIN, UNDERSIZED, 12mm x 

30mm LG.

25

      

   MK-D241B  

   MK-D242B ~ SAFETY PIN WELDMENT 

LOCATOR MACHINING

12

   MK-D244A ~ SAFETY PIN WELDMENT 

LOCATOR PIN

13

   M10x1.5 x 35mm LG. HEX SOCKET 

HEAD CAP SCREW

24

   DOWEL PIN, UNDERSIZED, 12mm x 

30mm LG.

25

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
1
0
-
1
4
 
D

L
O

C
 
P
i
n
 
L
o
c
a
t
o
r
 
R

e
v
\
1
8
7
5
D

2
4
1
 
-
 
R

E
V
 
B
.
d
w

g

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

 

 

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D241 - REV B

1875

B MC

10/14/22

ITEM '5' WAS M10 DOWEL, ITEM '4' WAS M12x1.75 

mm LG. HEX SOCKET HEAD CAP SCREW

 

A MC

7/5/22

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
RJB

CW

1875D241
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

25 150 108

2
6

1
2
5

1

4

3

5

1

5

4

3

1
0

1
0
5

150

10815025

2
6

1
2
5

2

4

5

3

1
0

1

3

4

5

3

1

4

5

4

5

2

3

1
0
5

150

3

2

4

5

2

4

5

3

PAINT NOTES:

NO PAINT

B

B

B

B



MK-D242A ~ SAFETY PIN WELDMENT LOCATOR MACHINING

SCALE 6"=1'-0"

MK-D242B ~ SAFETY PIN WELDMENT LOCATOR MACHINING

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D242A  

   MK-D243A ~ SAFETY PIN WELDMENT 

LOCATOR WELDMENT

11

   TOTAL WEIGHT ~ 27.8 lbs  

      

   MK-D242B  

   MK-D243A ~ SAFETY PIN WELDMENT 

LOCATOR WELDMENT

12

   TOTAL WEIGHT ~ 27.8 lbs  

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
1
0
-
1
4
 
D

L
O

C
 
P
i
n
 
L
o
c
a
t
o
r
 
R

e
v
\
1
8
7
5
D

2
4
2
 
-
 
R

E
V
 
C
.
d
w

g

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D242 - REV C

1875

C MC

10/14/22

10.5 DIA. WAS 12.5 DIA.  

B MC

7/12/22

DIM'S REVISED, 12.03/12.00 DIA WAS 10.00/10.03 

DIA

 

A MC

7/5/22

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096C

CAMPUS BUILDING
RJB

CW

1875D242
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

2
6
.
4
0
0

 
 
±

.
0
6
 
S
C
R

 
D

W
L

1
5
1
.
4
0
0

 
 
 
±

.
0
6
 
S
C
R

 
D

W
L

2
6
.
4

R
E
F
.

1
7
8
 
R

E
F

25.000

  ±.06 SCR

 DWL

175.000

   ±.06 SCR

 DWL

25.0

REF.

200 REF

329 REF

n
12.00

12.03

 THRU

(2x)

n10.5 THRU

(2x)

1
0
5
.
0

282.8

3.2

n
25.46

25.40

 THRU

2 X 45° CHAMFER B.E.

1

1

1

1

2
6
.
4
0
0

 
 
±

.
0
6
 
S
C
R

 
D

W
L

1
5
1
.
4
0
0

 
 
 
±

.
0
6
 
S
C
R

 
D

W
L

2
6
.
4

R
E
F
.

1
7
8
 
R

E
F

25.000

  ±.06 SCR

 DWL

175.000

   ± .06 SCR

DWL

25.0

REF.

200 REF

329 REF

n10.5 THRU

(2x)

n
12.00

12.03

 THRU

(2x)

2 X 45° CHAMFER B.E.

1
0
5
.
0

282.8

n
25.46

25.40

 THRU

3.2

178 REF

3.2

3.2

2

2

2

2

PAINT NOTES:

NO PAINT

178 REF

1
9

S
T
A
R

T

1
5
1
 
R

E
F

1
5
1
 
R

E
F

1
9

S
T
A
R

T

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.

B

B

C

C



MK-D243A ~ SAFETY PIN WELDMENT LOCATOR WELDMENT

SCALE 6"=1'-0"

DETAIL OF ITEM '2'

SCALE 6"=1'-0"

DETAIL OF ITEM '3'

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D243A  

  7 7/8"BAR 7/8 x 711

  1'- 15/16"BAR 1/2 x 5 3/16"22

  2 3/4"BAR 1/2 x 2 3/413

  5 7/8"BAR Ø2
14

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
0
7
-
1
2
 
R
e
v
s
C
 
D

-
L
O

C
 
P
P
R

B
6
\
1
8
7
5
D

2
4
3
.
d
w

g

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D243

1875

B MC

7/12/22 DIM REMOVED, DIM 108.1 WAS 113.5

 

A MC

7/5/22

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
RJB

CW

1875D243
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

50.0

5
0
.
8

00

0

7
5
.
0

1
2
5
.
8

3
2
9
.
0
 
m

m
 
[
1
'
-
 
1
5
/
1
6
"
]

111.2

2
0
0
.
0

2
8
2
.
8

45.0

57.8

71.2

85.9

131.9 mm [5 3/16"]

R40

(3x)

R25

(2x)

51.0 THRU

13 mm [1/2"]

2

2

0

22.2

67.2

80.0

93.4

TYP.

50-150

50-150

TYP.

51.0 THRU ALL

(2x)

0

1
3
.
9

5
0
.
8

6
3
.
5

1
1
4
.
3

1
2
7
.
0

1
6
3
.
9

1
7
7
.
8

0

22.2

67.2

154.1

108.1

5
4
.
1

5
0
.
8

1
2
.
7

5
0
.
8

1
7
8
 
m

m
 
[
7
"
]

I
T
E
M

 
'
1
'

200 mm [7 7/8"]

ITEM '1'

83

329

3
7

1
5
0
 
m

m
 
[
5
 
7
/
8
"
]

I
T
E
M

 
'
4
'

R10

TYP.

7
0

7
0
 
m

m
 
[
2
 
3
/
4
"
]

70 mm [2 3/4"]

10

13 mm [1/2"]

3

3

41

3

2

2

TYP.

TYP.

PAINT NOTES:

PAINT ALL FABRICATED STEEL 

ONE SHOP COAT OF LIGHT GREY RAL 7035

1

2

4

3

2

2

4

1

3

51 mm [2"]

B

B

SHOP NOTES:

1. ALL MATERIAL IS TO BE FREE FROM RUST, 

SCALE & WELD SLAG

2.  ALL WELDS ARE TO BE CLEAN AND NEAT IN APPEARANCE

3.  REMOVE ALL EXPOSED SHARP EDGES AND BURRS

4.  ALL STEEL TO BE ASTM A-36 UNLESS OTHERWISE SPECIFIED

5. ALL WELDS TO BE 3/16" / 5mm MINIMUM CONTINUOUS 

FILLET  UNLESS OTHERWISE SPECIFIED.

6. ALL HARDWARE MUST BE METRIC CLASS 8.8 OR SAE GR 5 

AND ZINC PLATED 

7. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

8.  ALL SLOT LENGTHS ARE END TO END U.N.O.



MK-D244A ~ SAFETY PIN WELDMENT LOCATOR PIN

SCALE 6"=1'-0"

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D244A  

  10 13/16"BAR Ø111

  3 9/16"BAR Ø3/4
12

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
I
s
s
u
e
d
\
2
2
-
6
-
2
0
 
M

i
l
l
e
r
 
F
o
r
 
F
a
b
\
1
8
7
5
D

2
4
4
.
d
w

g

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

 

PAINT NOTES:

1. DO NOT PAINT

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D244

1875

A MC

7/5/22

FOR FABRICATON  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096A

CAMPUS BUILDING
RJB

CW

1875D244
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

294

4
5

9
0
 
m

m
 
[
3
 
9
/
1
6
"
]

I
T
E
M

 
'
2
'

2

1

275 mm [10 13/16"]

ITEM '1'

10 X 30° CHAMFER

TYP.

1

2

285

2

2 X 45° CHAMFER B.E.

19 mm [3/4"]

25 mm [1"]

1

2

TYP.



MK-D245A ~ SAFETY PIN WELDMENT PLACEMENT

SCALE 3/4"=1'-0"

ENLARGED VIEW 'A'

SCALE 1 1/2" = 1'-0"

A

BILL OF MATERIAL

REMARKSABM #LENGTHDESCRIPTIONQTYMARK

   MK-D245A  

   MK-D203A ~ LIFTER BASE MACHINING11

   MK-D241A ~ SAFETY PIN WELDMENT 

LOCATOR ASSEMBLY

22

   MK-D241B ~ SAFETY PIN WELDMENT 

LOCATOR ASSEMBLY

23

   MK-D230A ~ SAFETY PIN WELDMENT44

J
:
\
J
o
b
 
#

1
8
7
5
\
N

e
w

 
J
o
b
 
D

r
a
w

i
n
g
s
\
D

e
t
a
i
l
s
\
1
8
7
5
D

2
4
5
.
d
w

g

SHOP NOTES:

1. USE E70XX LOW HYD. RODS FOR ALL WELDING U.N.O.

2. ALL WELDS TO BE 3/16" CONTINUOUS FILLET U.N.O.

3. ALL STEEL ANGLES, CHANNELS, MC, PLATES, FLATS, 

ROUNDS & S-SHAPES TO BE ASTM A-36 U.N.O.

4. ALL STRUCTURAL STEEL WIDE FLANGES AND WIDE 

FLANGE TEES TO BE ASTM A-992/A-572 GR. 50

5. ALL FASTENERS TO BE ZINC PLATED U.N.O.

6. ALL BOLTS TO BE ASTM A-325 U.N.O.

7. ALL NUTS ARE TO BE ASTM A-194 GR. 2 ANCO LOCK 

NUTS U.N.O.

8. ALL WASHERS ARE TO BE ASTM F436 U.N.O.

9. ALL STEEL TO BE CLEAN OF DIRT, RUST, MILL SCALE, 

WELD SPLATTER AND DEBURR ALL EDGES PRIOR TO 

PAINTING.

10. MARK ASSEMBLIES AND SUB-ASSEMBLIES (WHERE 

APPLICABLE) WITH MK IDENTIFIERS.

11. ALL SLOT LENGTHS ARE END TO END U.N.O.

 

 

MAGNUM DRAWING #:

MAGNUM JOB #:

41700 Gardenbrook Rd.

Suite 125

Novi, MI 48375

Phone:      (248) 773-8055

Fax:          (248) 773-8051

Web:         www.4Magnum.com

1875D245

1875

B MC

7/29/22 DELETED REF. ITEM NOTES, ADDED ITEM 4

 

A MC

7/5/22

FOR FABRICATION  

REVISION HISTORY

REV BY DATE DESCRIPTION APP

6/20/22

P6700 CONVEYORS

VOLVO

22096B

CAMPUS BUILDING
RJB

CW

1875D245
REV:

DRAWN BY:

CHECKED BY:

JOB No:

DWG DATE:

TITLE:

DRAWING No.

MILLER INDUSTRIES
3070 W. THOMPSON RD.

PH: 810.373.0322  FAX: 810.373.0326

CLIENT:

UNLESS OTHERWISE NOTED:
.X = ±.060

.XX = ±.030
.XXX = ±.005

FRACTIONS = ±1/16"
ANGLES = ±1°/30'

BREAK ALL SHARP EDGES
DEBURR ALL HOLES

DO NOT SCALE DRAWING

FENTON, MI 48430

GENERAL NOTES:
MATERIALS:
   - ALL WIDE FLG. MATERIAL TO BE ASTM A992-GR50 U.N.O.
   - ALL TUBE MATERIAL TO BE ASTM A500, GRADE B U.N.O.
   - ALL PIPE MATERIAL TO BE ASTM A53, GRADE B U.N.O.
   - ALL OTHER MATERIAL TO BE ASTM-A36 U.N.O.
HOLES:
   - ALL HOLES ARE 13/16" DIA. U.N.O.
   - ALL BOLTED CONNECTIONS TO BE 3/4" DIA A325-N
    (SHEAR  BEARING TYPE CONNECTIONS) WITH BOLTS
    INSTALLED IN SNUG TIGHT CONDITION, UNLESS NOTED.
WELDS:
   - ALL WELDS TO BE "E70XX". (PER AWS D1.1)
PAINT:
   - PAINT PER CUSTOMER SPECIFICATIONS U.N.O.
COPES:
 - ALL RENTRANT CUTS TO BE A MIN 1/2" RADIUS U.N.O

www.millc.com

PROPRIETARY AND CONFIDENTIAL

INFORMATION CONTAINED IN THIS

DRAWING IS THE SOLE PROPERTY

 OF MILLER INDUSTRIES. ANY

REPRODUCTION IN PART OR

AS WHOLE WITHOUT THE WRITTEN

  PERMISSION OF MILLER INDUSTRIES

 IS PROHIBITED.

CL
 

 

 

 

87

717

842

87

717

842

0

1
8
7
5

1
9
8
3

2
1
3
3

1
8
1
5

1
7
8
5

1
6
8
0

1
6
8
0

1
7
8
5

1
8
1
5

1
8
7
5

1
9
8
3

2
1
3
3

0

3

3

2

2

1

25 3700 25

1

2

2

1

3

2

3

2

ALIGN DOWEL PIN TO

LINE-UP FIXTURE

2

1

CL
 

 

 

 

0

55

165

0

8
7

8
7

1353

1

2

3

PAINT NOTES:

NO PAINT

NOTE: USE ITEM '2' & '3'

TO LOCATE MK-D230A. 

REMOVE AFTER WELDING

230A IN PLACE.

4

4

4

4

4 4

4

4

4

4


	1875D200 - Rev B.pdf
	1875D201 - REV D
	1875D202 - REV D
	1875D203 - REV C
	1875D204-1 - REV B
	1875D204-2 - REV B
	1875D205 - REV A
	1875D206 - REV D
	1875D207 - REV C
	1875D208 - REV A
	1875D209 - REV B
	1875D210 - REV B
	1875D211 - REV C
	1875D212 - REV B
	1875D213 - REV D
	1875D214 - REV A
	1875D215 - REV C
	1875D216 - REV B
	1875D217 - REV B
	1875D218 - REV B
	1875D219 - REV B
	1875D220 - REV D
	1875D221 - REV C
	1875D223 - REV B
	1875D224 - REV B
	1875D225 - REV B
	1875D226 - REV A
	1875D227 - REV B
	1875D228 - REV A
	1875D229 - REV A 
	1875D230 - REV B
	1875D231 - REV A 
	1875D232 - REV B
	1875D233 - REV C
	1875D234 - REV A 
	1875D235 - REV B
	1875D236 - REV A
	1875D237 - REV B
	1875D238 - REV B
	1875D239 - REV A
	1875D240- REV A
	1875D241 - REV B
	1875D242 - REV C
	1875D243 - REV B
	1875D244 - REV A
	1875D245 - REV B

